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Do not open this Test Booklet until you are asked to do so.
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This Booklet contains
48 pages including
Rough Page.
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¥ 35, 51 9@ 85, 101 ¥ 135 WA 151 & 185)
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¥ 50, 86 ¥ 100, 136 § 150 TF 186 & 200) Y ¥
Y B | wlienfefdi 1 weieh fava § 15 (ugg) |
q &g 10 (TF) I &

TremToiEt SRt TETE & o U9l o ST S o U8 STHIT

B ¥ e fawa & weft 15 o vt ug Afe e

Threnel 10 99 A 2afere g9l 1 SR <1 © o SEFk g

IART WAH 10 UL T & ook TehaT ST |

3. U U 4 37k B T TP T SR b o wdemed
I 4 3 feq SMEH | g&F T W F faw Fa Fe
Y ek 3feh F2A1 ST | Aferehan ek 720 ¥l

4. 39 g8 R fgaru sifhd & wd S 93 W 9= o
% foTu haet et/ shTel STt Ut U= ol T i |

5. T w1 39 ghen g § fuifa wom =& =)

Important Instructions :

1. The Answer Sheet is inside this Test Booklet. When

you are directed to open the Test Booklet, take out the
Answer Sheet and fill in the particulars on ORIGINAL Copy
carefully with blue/black ball point pen only.

2. The test is of 3 hours 20 minutes duration and the Test Booklet
contains 200 multiple-choice questions (four options
with a single correct answer) from Physics, Chemistry
and Biology (Botany and Zoology). 50 questions in
each subject are divided into two Sections (A and B)
as per details given below :

(a) Section A shall consist of 35 (Thirty-five) Questions
in each subject (Question Nos — 1 to 35,
51 to 85, 101 to 135 and 151 to 185). All questions
are compulsory.

(b) Section B shall consist of 15 (Fifteen) questions in

each subject (Question Nos — 36 to 50, 86 to 100, 136
to 150 and 186 to 200). In Section B, a candidate
needs to attempt any 10 (Ten) questions out of 15
(Fifteen) in each subject.
Candidates are advised to read all 15 questions
in each subject of Section B before they start
attempting the question paper. In the event of a
candidate attempting more than ten questions, the
first ten questions answered by the candidate
shall be evaluated.

3. Each question carries 4 marks. For each correct response,
the candidate will get 4 marks. For each incorrect
response, one mark will be deducted from the total
scores. The maximum marks are 720.

4. Use Blue/Black Ball Point Pen only for writing
particulars on this page/marking responses on Answer
Sheet.

5. Rough work is to be done in the space provided for this
purpose in the Test Booklet only.
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In case of any ambiguity in translation of any question. English version shall be treated as final.
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Physics : Section-A (Q. No. 1 to 35) |

1 Match List I with List II.
List I List IT
(Spectral Lines of (Wavelengths (nm))
Hydrogen for
transitions from)
A. mp=3ton =2 . 4102
B ny = 4 to nm= 2 II. 434.1
C. m=5tonm=2 [II. 656.3
D. m=6ton =2 IV. 486.1
Choose the correct answer from the options given
below :
(1) A-I, B-II, C-1II, D-IV
(2) A-IL, B-I, C-1V, D-III
(3) A-IIL, B-1V, C-II, D-I
(4) A-1V, B-IL, C-1, D-1I
2 Match List-I with List-I1.
List-1 List-I1
(Material) (Susceptibility (7))
A. Diamagnetic L. x=0
B. Ferromagnetic I. 0>y>-1
C. Paramagnetic L.y >>1
D. Non-magnetic IV. 0<y <€ (asmall
positive number)
Choose the correct answer from the options given
below:
(1) A-1V, B-II1, C-11, D-I
(2) A-IL, B-IIL, C-1V, D-I
(3) A-IL, B-I, C-III, D-IV
(4) A-II, B-I1, C-1, D-IV
3 In a uniform magnetic field of 0.049 T, a magnetic

needle performs 20 complete oscillations in
5 seconds as shown. The moment of inertia of the
needle is 9.8 x 100 kg m2. If the magnitude of
magnetic moment of the needle is x x 1075 Am?;
then the value of “x’ is :

(1 () 5n°

(3) 12872 4) 50n2
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Tl Lt g 11| el shifere:

T Tl
(Frfafaa i & (Foreed (nm))
TRl < o B
& Bl )

A. n2:3@fn1:2 I. 410.2
B. ny =4 @(nl =2 II. 434.1
C. m=5anm=2 M. 656.3
D. my=63dn=2 IV. 486.1
I faw U fasedt & W& sAR g

(1) A-L B-II, C-III, D-IV
(2) A-IL, B-I, C-IV, D-III
(3) A-IIL B-1V, C-II, D-I
(4) A-1V, B-III, C-I, D-II

Al | o1 gt 11 | fre it
T T 11
(wered) (T wgfa- 1 )
A. vfagasr L. x=0
B. & gEad I 0>y>-1
C. sg=a™ .y >>1
D. sgemE IV. 0<y <é€ (usygsH
YHTHD &)
T fau U faeedl @ wé SR g

(1) A-1V, B-III, C-I1, D-I
(2) A-IL, B-III, C-1V, D-I
(3) A-IL, B-I, C-III, D-IV
(4) AL B-IL, C-1, D-IV

0.049 T % e TehaHT= Jrienid &5 ¥ Th v d g
5 9% H 20 qre guf sl 5 (Fasgan) 193 & ss@
areet 9.8 x 1070 kg m? ¥ 1 afs g3 &1 graarg sy

B AT x x 1075 Am2 8l al “x’ &l 719 &

(1) 1280 x> 2) 572

(3) 12877 4) 502

[ Contd...



An unpolarised light beam strikes a glass surface

at Brewster’s angle. Then

(1) the reflected light will be completely
polarised but the refracted light will be
partially polarised.

(2) thereflected light will be partially polarised.

(3) the refracted light will be completely
polarised.

(4) Dboth the reflected and refracted light will be
completely polarised.

Consider the following statements A and B and
identify the correct answer :

A. For a solar-cell, the I-V characteristics lies
in the IV quadrant of the given graph.

B. In a reverse biased pn junction diode, the
current measured in (xA4), is due to majority
charge carriers.

(1) Both A and B are incorrect.

(2) A is correct but B is incorrect.

(3) A is incorrect but B is correct.
(4) Both A and B are correct.

A light ray enters through a right angled prism at
point P with the angle of incidence 30° as shown
in figure. It travels through the prism parallel to
its base BC and emerges along the face AC. The
refractive index of the prism is:

3)

“

A particle moving with uniform speed in a circular
path maintains :

(1) varying velocity and varying acceleration.
(2) constant velocity.

(3) constant acceleration.

(4) constant velocity but varying acceleration.
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Teh Tgfad Hentel Yot fepdl shid &l qde X ST HI0

R ZTHA & | T

(1) wrafad gt gurd: giad aig sTaatad Tt
ifetes gfaa srm)

(2) uuafda wereT sTifdte gfaa srm

(3) sruafad weTeT guid: gfaa srmi

(4) = qTEfid 9 safaa gener goia: gfaa s

frfatad ®ai A 9 B &l @t 9ol sax g

A. TR A % fog [-V aifyaeatomes 6 ™ 76 &
oY Tgaie 7 B §

B. TohH STHAA pn S SIS H 49T SgH&®
ST aATER % BT () o J1hr Sl 7 |

(1) A MATIBTEd &1

(2) A9 ud Biaa gl

(3) Avwd? ud BEEIgl

(4) I AIBEHE

T Yah1eT fohter grapi e & fag P ax 30° &
FTIA I AT BT & oG feb o=t & q9nian T 3

g " & ang BC & gawX gadi AC 9a8 &
STAfeeT UG Bl & | o T STaadi o

3)

4

Teh JATBT 98 U THEAT ATl § T T BT ST
@R

(1) ofEdt o ue aftedt @R

(2) faam

(3) fraa @

(4) Tad o g uiEdt @
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1
The graph which shows the variation of (?J

and its kinetic energy, £ is (where ] is de Broglie
wavelength of a free particle) :

1

) 22 @ 35

1 1
) ® \ 4 32
) E ) E

(o]

A wire of length ‘/° and resistance 100 Q is
divided into 10 equal parts. The first 5 parts are
connected in series while the next 5 parts are
connected in parallel. The two combinations are
again connected in series. The resistance of this
final combination is:
(1) 60Q

3) 520

(2) 260
4) 550

The moment of inertia of a thin rod about an axis
passing through its mid point and perpendicular
to the rod is 2400 g cm?. The length of the 400 g
rod is nearly :

(I) 72.0cm (2) 85cm

(3) 17.5cm (4) 20.7cm

The output (Y) of the given logic gate is similar
to the output of an/a :

(1) AND gate
(3) NOR gate

(2) NAND gate
(4) OR gate

In a vernier calipers, (N + 1) divisions of vernier
scale coincide with N divisions of main scale. If
1 MSD represents 0.1 mm, the vernier constant
(incm) is :

1

() 10Nv+1) 2) ™

1

@ 100(N +1)

(4) 100N
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1
ﬁwﬁ%aﬁﬂmw[l—zjamwﬁawf@

% afac @ gufaT & (STeT | e o &Y i St St
T ®) ¢

L 1

() 2 @) &
AP DA
1 1

(3) 3z \ 4) 32
i E 5 E

I @Hs q9r 100 Q Wiae % Ueh ak @l 10 9eY
it ® farfora femar wam ¥ 1w 5 9T @l Sofisey &
TAT ST 5 AT bl FHGL Y § SIS 790 &1 a1
TAWT BT : STk & ST 74T ¥ 139 Sifvad |t
BT WA &

(1) 60Q (2) 260

3) 520 4) 550

U Iadl BS H1 360k AL (95 9 oI ardl BS &
TRTE] 318t o Uk Tee Smgef 2400 g cm? 1400 g
DI B DI TS TIHT &

(1) 72.0cm (2) 85cm

(3) 17.5cm (4) 20.7cm

& T witore afvae @ forta (V) T frfa &
g &

A—1
! Y
B
(1) AND= (2) NAND 2
(3) NOR = (4) OR=

Teh qET helud ¥ af+at 39 & (N + 1) @™l &
A e T & N @l % 7 6 9K § 1 3 e
Y™ & U @ &l A7 0.1 B & @t afvier fadie
@ H) &

1

(H 104N+ 2) TON

1

) 100(N +1)

(4) 100N
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At any instant of time 7, the displacement of any
particle is given by 2¢—1 (SI unit) under the
influence of force of SN. The value of
instantaneous power is (in SI unit):

(1) 6 2) 10

3) 5 @ 7

A thin spherical shell is charged by some source.
The potential difference between the two points
C and P (in V) shown in the figure is:

=9x10° SI units)

(Take
dn e,

(2) 3x10°
(4) 0.5x103

(1) zero
(3) 1x10°

A thin flat circular disc of radius 4.5 cm is placed
gently over the surface of water. If surface tension
of water is 0.07 Nm™!, then the excess force
required to take it away from the surface is :

(1) 99N (2) 19.8 mN

(3) 198N (4) 1.98 mN

A logic circuit provides the output Y as per the
following truth table :

- o = ol
o = o —|~

The expression for the output Yis :

(I B (2) 4B+4

() 4B+4 4 B
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fepaY &7 19X SN 9@ & =l fepaY ot et fereamos
2t — 1 (SI =i ) feam wan & | et ifert a6t A1 (S

A ) B
(1 6 2) 10
3) 5 @ 7

Teh T AT BigT el i &1 srafra fean
¢ | yai fas % orgar &1 faget C 9 P o dra fawarx
(@ ) &

1
4r €

(frm ¥ =9x10” SI w1 &)

(2) 3x10°
(4) 0.5x%x10°

(1) o=
(3) 1x105

4.5 T e &l U% STie ad Jateik adwdl Bl
T g 9 9 & @ e T ) At 9 @ g
T 0.07 Nm~! €1 oY 38! 9Tl ! 9ae 9 STe &

% [T eayas onfey 9@ &
(I) 9N (2) 19.8 mN
(3) 198N (4) 1.98 mN

frrefaiad g el & FgaR UH @isid 9y
et ¥ wem & &

A|B|Y
0101
0|1 10
1 |01
1 {110
frfa Yo fog <ot 2
(1) B (2) AB+4
(3) 4B+4 4 B
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Given below are two statements: one is labelled
as Assertion A and the other is labelled as
Reason R.

Assertion A : The potential (V') at any axial point,

at 2 m distance(r) from the centre of the dipole

%
of dipole moment vector p of magnitude,

4x100Cm,is +9x10° V.

1 9
(Take - <o =9x10" ST units)
2P
Reason R : V== , where r is the
dnegr

distance of any axial point, situated at 2 m from

the centre of the dipole.

In the light of the above statements, choose the

correct answer from the options given below:

(1) A is false but R is true.

(2) Both A and R are true and R is the correct
explanation of A.

(3) Both A and R are true and R is NOT the
correct explanation of A.

(4) A istrue but R is false.

The terminal voltage of the battery, whose emfis
107 and internal resistance 1 Q, when connected

through an external resistance of 4 QO as shown
in the figure is :

__________

(1) or
3) 6V

JU b=,

Solenoid - 1 Solenoid -2

In the above diagram, a strong bar magnet is
moving towards solenoid-2 from solenoid-1. The
direction of induced current in solenoid-1 and that
in solenoid-2, respectively, are through the
directions:

(1) BAand DC
(3) BAand CD

(2) ABand DC
(4) ABand CD
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i < U [ T ¥ e b e A q gE
&1 R & fafea fepan mam 31
AFEI A 2 4 x 1076 C m ufemmn, faga smeef afesr

P Fasge 35 3 & 2 Mgt () W el g AT
fawa +9x10% 7 ¥

L —9x10” SI 7reh)
0

TRV =t e, oA B A2 m
dnegr

& g8 1x g ot fag AT 0 2

U HUT &b MU U7, A9 5 T foabeatt & @2

ERREE (R

(1) Avad e atg RE@ 81

(2) @A ATREE T T R, A&l G =T ¥

(3) TIAATREE T quT R, A ol G2 =ame =& |

(4) A9 utg R T@q 2|

1Q srdfes giearer aear 10V fa.an. sa & 928 &
T Al @1 & 99 38 fa SgEn 4 Q & 9w
giaay § SeT ™ E:

40
/N A4

CL 19

— —

Jov .
1) 10V (2) 4V
(3) 6V 4) 8V
- - H - -
s

N S——

Al Jd
qiCTeTeT— 1 qiCATeTehT—2

Sued fasl ¥ U d 8% gEe ufenae-1 9
giTferehT—2 @l SfiX i & @ & | i1 &
Ofd g &t feen qur afttae—2 § afa e @t
feom w9t fagmen # #:
(1) BAwEDC
(3) BAWECD

(2) ABtd DC
(4) ABWE CD
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N
In an ideal transformer, the turns ratio is L -

2
N
The ratio V: V is equal to (the symbols carry
their usual meanmg)
(1) 1:4 2) 1:2
3) 2:1 @ 1:1

A tightly wound 100 turns coil of radius
10 cm carries a current of 7 A. The magnitude of
the magnetic field at the centre of the coil is (Take

permeability of free space as 47x 10~/ SI units):
(1) 44T (2) 44mT
(3) 44T 4) 44mT

Given below are two statements :

Statement I : Atoms are electrically neutral as

they contain equal number of positive and

negative charges.

Statement II : Atoms of each element are stable

and emit their characteristic spectrum.

In the light of the above statements, choose the

most appropriate answer from the options given

below :

(1) Statement I is incorrect but Statement II is
correct.

(2) Both Statement I and Statement II are
correct.

(3) Both Statement I and Statement Il are
incorrect.

(4) Statement I is correct but Statement II is
incorrect.

The quantities which have the same dimensions
as those of solid angle are :

(1) angular speed and stress

(2) strain and angle

(3) stress and angle

(4) strain and arc

If ¢ is the velocity of light in free space, the correct
statements about photon among the following
are :

The energy of a photon is £ =hv.
The velocity of a photon is ¢.

The momentum of a photon, p = h_v
c

S0 w»

In a photon-electron collision, both total
energy and total momentum are conserved.
E. Photon possesses positive charge.

Choose the correct answer from the options given
below :

(1) A,B,DandE only

(2) A andBonly

(3) A,B,Cand D only

(4) A, CandD only
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g amest TEwET § W @ wene &1 oy

Ny, 1 :
Tf=5%la§qus:Vpﬁﬁﬂﬁ$W%?(Tﬁ?ﬁ€m
vafdd et yget fopar T #)

(1) 1:4 2) 1:2

(3) 2:1 4) 1:1

10 & e &f dwEe fagel 100 B arelt T Hsar
# yaed 9T 7 A $ 1Sl % b5 U JEHI & B

i ¥ (R ¥, frafa & gramstiedr = 4nx107
SI A=) :

(1) 44T (2) 44mT
(3) 44T (4) 44mT
T &1 s fow o ¥

F 1 : UXY] YA ISMA B § HAifh 399 a9
G § gD Ul FOTHD ST 8 2 |

FoA 1 : YA @ & A W8 Bl & a7 79T
sfiretarftTe Weagd I@mid Bed & |

SURT HIAT % SR WX, A fJu 0 foswedt & &
WG@HWW:

(1) &7 1 7@ & wig H97 11 981 51

(2) ¥ 1T By I I T2 )

(3) @y 1 a %A 11 I TTed £

(4) &9 198§ uig w9 1 Tad 3

TqE TIYET foTien! famTd == vt & g9 &
(1) i aTe qon gfasd

(2) ferpfir qem @im

(3) wiqaw qur @i

(4) Taepfa qur a™

i gord BT | YeBIT BT AT ¢ &, WM &b g
frrfafad & @&t B &

BT B Sult E=hy ¥

B B AT ¢

W BT AT pzﬂ .
C

BIH-S0d G995 H, S $d Holt 9 ot G
Tferd &

E. WM 9 TS STEST el §
frrfafaa faeea @ @8 sav ghm:

(1) %a@ A,B,DTE

(2) ®ad AdB

(3) ¥a@A,B,CaD

(4) ¥a@A,CaD

o 0 Wy
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A bob is whirled in a horizontal plane by means
of a string with an initial speed of ® rpm. The

tension in the string is 7. If speed becomes 2 ®
while keeping the same radius, the tension in the
string becomes :

(1) ~2r

(3) 4r1

@ T
T
@ 7

If x=5sin (nt + %) m represents the motion of a

particle executing simple harmonic motion, the
amplitude and time period of motion, respectively,
are :

(I) 5m,1s 2) Sem,2s

3) 5m,2s 4) Scem,1s

A thermodynamic system is taken through the
cycle abeda. The work done by the gas along the

path bc is :
P A
300 kPa} - - - &— ¢
Y ™
100 kPaf - - - —> b
100 cm? 200 0m3”

r—>
(1) -60J (2) zero
(3) 30J (4) —90J

+ — —
x4,y 7 P sp ¢ 590

In the nuclear emission stated above, the mass
number and atomic number of the product QO
respectively, are :

(1) 286, 81 (2) 280, 81

(3) 286,80 (4) 288,82

Two bodies A and B of same mass undergo
completely inelastic one dimensional collision.
The body A moves with velocity v; while body B
is at rest before collision. The velocity of the
system after collision is v,. The ratio v{ : v, is :
(1) 14 2) 1:2

3) 2:1 “4) 41

In the following circuit, the equivalent capacitance
between terminal 4 and terminal B is :

ZIHF 2pF
1l _|_ L}
Ao— 2uF —o B
1t 1 I
2pF 2uF
(1) 4pF (2) 2pF
(3) 1pF 4) 0.5uFr
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T MW Bl I & Aferet O A 36 Wb FATAT STl &
fop saa gty T © rpm ¥ 1S A o TR 1A
o B 99 T@Ht I 20 & WA A Al o ®
AT B

(1) ~2r

(3) 4T

@ T

T
@ 7

afg szsin(ntngjm T ST T B g T

HUT Bl T BT TS BT &, Tl BT STTATH AT ST
BT HHT:

(1) 5m,1s (2) 5cm,2s

3) Sm,2s 4) Scm,1s

Ueh SN b & qebid WehH abeda ¥ & ST
ST &1 be 99 % ST 19 B $a B &

P A

Tl

300 kPaf --- <
v <N
100 kPaf - - - 47— 1b
100em®  400em”

V—>
(1) —60.J ) g
(3) 30J 4) -90J

+ — —
20y a y & o, B p e
82X Y /Z /P /Q

YR ATHBIT S b T IS O Bl FoT9H e
g YT HHIh HAL: &

(1) 286,81 (2) 280, 81

(3) 286,80 (4) 288,82

T 999 & o s A 9 B quiaqan sTiary Uh
forir gz ea €1 9 @ gd fvs A 9 v, & Tfa
HAT & Safe fvs B fawm & § 1 w9z & usam em
Eﬁraﬂvz%lqumvlzvz%l

(1) 1:4 2) 1:2

3) 2:1 4) 4:1

frrfafaa aftaa & <fiFa 4 9 <fifFa B & 9 gea
CIEGIES

2KF 2pF
I J_ ]
Ao— 2uF —o B
1 1 1
2pF 2pF
(1) 4pF 2) 2pF
(3) 1pF 4) 05pF
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A horizontal force 10 N is applied to a block 4 as
shown in figure. The mass of blocks 4 and B are
2 kg and 3 kg, respectively. The blocks slide over
a frictionless surface. The force exerted by block
A on block Bis :

F=10N 3/13;%
2kg
7 7777 /77777777 7777777
(1) 10N (2) zero
(3) 4N 4 6N

A wheel of a bullock cart is rolling on a level
road as shown in the figure below. If its linear
speed is v in the direction shown, which one of
the following options is correct (P and Q are any
highest and lowest points on the wheel,
respectively)?

P

\I<

Q
(1) Point P has zero speed.
(2) Point P moves slower than point Q.
(3) Point P moves faster than point Q.
(4) Both the points P and Q move with equal
speed.

The mass of a planet is % ththat of the earth and

its diameter is half that of the earth. The
acceleration due to gravity on that planet is :

(1) 3.92ms2 (2) 19.6ms2

(3) 9.8ms2 (4) 49ms2

The maximum elongation of a steel wire of 1 m
length if the elastic limit of steel and its Young’s
modulus, respectively, are 8 x 108 N m~2 and
2x 101 Nm=2,is :

(1) 8 mm (2) 4mm

3) 0.4mm 4) 40 mm

If the monochromatic source in Young’s double

slit experiment is replaced by white light, then

(1) all bright fringes will be of equal width.

(2) interference pattern will disappear.

(3) there will be a central dark fringe surrounded
by a few coloured fringes.

(4) there will be a central bright white fringe
surrounded by a few coloured fringes.
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yafdfa fasr & ua et AuX 10 N &fast 9@ smifua
fopan <TaT ¥ | et 4 @ B % s wusn: 2 e g
3 TepuT ¥ | T2k U AUIRTE O % X Raded & |
T A B [EH B X 1 T 9 &

F=10N 3113;2%

2 kg
77 77777777 7777 777
(1) 10N Q) =
(3) 4N 4) 6N

T JAS! T dfedl faa AR Ue THad a5 U<
e &1 ¥ | afs foard 78 fean & gwe & @ v a
qr frre=fefaa & 9 @ o faeer @€ 2 (T 7P 8l
O HHST: B3 ITaad Td JAaH 95 2 1)

(1) fag P& I =2

(2) g P, fag O F 4 wifq & 5

(3) fag P, fag O & I 7if & 8

(4) < feg P O EIE I | Tfd B B |

w%wwq@%ww%ﬁm%aw
THE! ATE YA & ATE &I 37T ¢ |1 39 T8 U [o@d
[SEUES

(1) 3.92ms>2 (2) 19.6ms2

(3) 9.8ms2 (4) 49ms2

1 i TS % I % A1 BT LI Pl TeATEAT HHT a2
TUHT JATRIAT [T %A § x 108 N m=2 qan
2 x 101 N m—2% qf 38 a% & @S ¥ gig 2

(1) 8 mm (2) 4mm

3) 0.4mm 4) 40 mm

gf 4w f5 7l wam & uahavil | & 93d g 9
gfafda &< fean man &

(1) = St sl 9 <ieTs &1 &

(2) ATHIOT UTET 3G9 BRI

(3) B iF e & Rl ueb srdifa s s 31|
(4) B TF fhstl & frl s <t b= B s
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Physics : Section-B (Q. No. 36 to 50) |

36

37

38

39

40

A small telescope has an objective of focal length
140 cm and an eye piece of focal length 5.0 cm.
The magnifying power of telescope for viewing
a distant object is:

(1) 32 2) 34

(3) 28 “ 17

Ifthe plates of a parallel plate capacitor connected
to a battery are moved close to each other, then
A. the charge stored in it, increases.

B. the energy stored in it, decreases.

C. its capacitance increases.

D. the ratio of charge to its potential remains
the same.

E. the product of charge and voltage increases.

Choose the most appropriate answer from the
options given below:

(1) A,BandConly (2) A, B andE only

(3) A,CandEonly (4) B, D andE only

A 10 puF capacitor is connectedtoa 210 V, 50 Hz
source as shown in figure. The peak current in

the circuit is nearly (n=3.14):
+

HIE—

C=10 pF

210 ¥,50 Hz
(1) 0354 (2) 0584
(3) 0934 (4) 1204

Choose the correct circuit which can achieve the
bridge balance.

Q)

3)

Two heaters A and B have power rating of 1 kW
and 2 kW, respectively. Those two are first
connected in series and then in parallel to a fixed
power source. The ratio of power outputs for these
two cases is:
(1) 2:3

3) 2:9

()

1:
4) 1:

1
12
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T G&H GIEANT % SITHGead e bl Biehd g 140 &
dur At B wied gl 5.0 ¥ ¥1 ) Rud axg A
@ o forg qRastt @t smads e @

(1) 32 (2) 34

(3) 28 4) 17

I T S E 3 THINIR e HELIE B e Teb aL
%1 3T 7T el 8, aa:

A. 399 dfaq Sraet Sedl @

B. 3% dfud el gedl &

C. 39! grfiar gt &

D. 8% AT TAT S BT STIUTT G99 Tl &
E. Ay a1 dieest &1 oG IodT §

I fed T faaedt | ged sfaa sa g

(1) ®ad@ A,BaC (2) ®aa@ A,B9E

3) ®a@ A,CIE (4) ®aa B,DTE

T 10 pF o g &l fost siga w210 'V, 50 Hz
Hid & SIST 71 S 1 9 & G ol Y@ q @ ¥

(n:3.14):

HE—

C=10pF

210 V,50 Hz

(1) 0354 (2) 0584
(3) 0934 4) 1204

Iz ufvuy giag it st sl g uTd & g

ey )

3)

A ETAT B H ot g AT | kKW aan2 kW 319
ST gee JUi BH W qoT TR ST BH § Us R
QTTeRT B | TS 911 & | 39 a1 Rerferal # Fefa srfera
AR RRIGES
(1 2:3
(3) 2:9
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The velocity (v) — time () plot of the motion of a
body is shown below :

o>v(ms™)

t(s) >
The acceleration (a) —time (7) graph that best suits
this motion is :

Tl ©

sa@ms?)
>ams?)

t(s)—

>a(ms?)
>a(ms?)

™ te— ) t(s)>

If the mass of the bob in a simple pendulum is
increased to thrice its original mass and its length
is made half its original length, then the new time

period of oscillation is % times its original time
period. Then the value of x is:

(1) 4 2 3

3) V2 @ 243

A metallic bar of Young’s modulus,
0.5 x 101N m~2 and coefficient of linear thermal
expansion 107 °C~1, length 1 m and area of
cross-section 10~3 m? is heated from 0°C to 100°C
without expansion or bending. The compressive
force developed in it is:

(1) 2x103N (2) 5x103N

(3) 50x103N (4) 100 x 103N

A sheet is placed on a horizontal surface in front
of a strong magnetic pole. A force is needed to :
A. hold the sheet there if it is magnetic.

B. hold the sheet there if it is non-magnetic.

C. move the sheet away from the pole with
uniform velocity if it is conducting.

D. move the sheet away from the pole with
uniform velocity if it is both, non-conducting
and non-polar.

Choose the correct statement(s) from the options

given below:

(1) Conly

(3) AandC only

(2) BandD only
(4) A,CandD only

11

41

42

43

44

Teh TG, I Tl BT AT (v) — T () TT <Ird Ui &

oev(m s

t(s) >
% o a=d Sfad @ (a) — 999 (F) % &

T @

%

£

sams?)

(=)
>ams?)

M

t(s)—

>a(ms?)

t(s)— S t(s)>

s T AT Al H T DT FHHH 380 I FHHH
% UM T O 61 a1 STl & A1 9a! TS el
ey BT < T, A A BT 9T SAABIA WTH

&mﬁaﬂawgwﬁw%laﬁquﬁ%:

2 3
4 243

0.5 x 101 N m~2 g1 yeareeran 7oties @erm 107> °C~!
T HOI YA T bt |1 H @ g 1073 m? Stgue
ufeig SThe Bl Ush i 88 @bl 0°C & 100°C T
fam fereame an wire o T Topan w1Ta © | 39 S |itsd
q &

(1) 2x103N
(3) 50x 103N

(1) 4
3) V2

(2) 5x103N
(4) 100 x 103N

T ISl G Y % T Teb Aifcist q@ 98 U a1aT

TG TS ¥ 1 U 99 AETS &

A. I g grach ¢ I I1aT Bl F81 W@ & g

B. aft g8 s/gwh ¢ I 91X Bl J81 @ & [Ag

C. 3fs 3% areh & a1 916 Bl ga ¥ g THEHH 9T
BREEEERTY

D. df< g8 Fame T AYfad & a1 ae b ga d W
THEHH I & o oW & [0

I fe ferspedt & w2 e giw:

(1) %@ C (2) F@@BaD

(3) Fa@AaC (4) ¥adaA,CaD
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The property which is not of an electromagnetic

wave travelling in free space is that :

(1) they originate from charges moving with
uniform speed.

(2) they are transverse in nature.

(3) the energy density in electric field is equal

to energy density in magnetic field.

1

(4) they travel with a speed equal to m .

A parallel plate capacitor is charged by connecting
it to a battery through a resistor. If I is the current
in the circuit, then in the gap between the plates :

(1) displacement current of magnitude greater
there is no current.

(3) displacement current of magnitude equal to

(4) displacement current of magnitude equal to
I flows in a direction opposite to that of I.

It is bent at the middle of its length such that the

two arms make an angle 60° with each other. The

than I flows but can be in any direction.
(2)

I flows in the same direction as L.
An iron bar of length L has magnetic moment M.
magnetic moment of this new magnet is:

M 5 @ ™
¢ > @) 2M

The minimum energy required to launch a satellite
of mass m from the surface of earth of mass M
and radius R in a circular orbit at an altitude of
2R from the surface of the earth is:

GmM 5GmM
1 3z @) “gr

2GmM GmM
3) 3% @ R

The following graph represents the T-V curves of
an ideal gas (where T is the temperature and V
the volume) at threefpressures P, P, and P
compared with those of Charles’s law representea
as dotted lines.

i

V— L
Then the correct relation is:
(I A>H>p (2) B>PKB>H
3) A>BK>hH 4 BA>A>H
A force defined by F = at’ + Bt actson a particle

at a given time #. The factor which is
dimensionless, if o and 3 are constants, is:

y @ P/

3 %4 () apr

S6 Hindi+English ]

12

45

46

47

48

49

50

g&m&ﬁéﬂﬁﬂﬁl@ﬁg@aﬁﬁaﬁﬁaﬁﬂww
(1) 3 TR AT & TR el SR S

|
2) I B E
EB; %@ﬁ@m,g@ﬁﬁ%ﬂﬁmﬁm
% IS Bl 8

1
@) F e, A & i et ¥
T T LIS bl Ueh WITe &30 U 9 o

=oh{ ST fepam o 3| afg ufge & g L& a
w2l & 9 e § —

(1) Teelt ot fom & wxeg 1 a1fres afcor ot ferenmasy
&R gaTted el & |
(2) @3 arT TE 2|
3) %ﬁngwa%wﬁwmwmﬁw%mﬁ
|
(4) ot fauda fgem & 1 S afmr & faeamas
&R gaTted eial § |
L TS %l Uh @lE B9 B FEHI Mz
%m%qw%wqgﬁ??ﬁaw%ﬁﬁ [ T
Teh AL % A1 60° BT HIVT T ¢ | 36 75 b Bl
q@gaﬂsﬁ%z
M
(1) B 2 M
M
G 5 4) 2M

M z=q= qen R Brsen @t gedt & ad § 2R Fa1 uX

Roq ue gABR w1 A m A & RGN SWE B
q%ﬁaa@ru%ﬁaarﬁ%%zwmswwﬁ%:
GmM 5GmM
M 33 2 T¢r
2GmM GmM
() 73R @ 2R

ﬁw&rﬁﬁmﬁagmﬁﬁﬂ?ﬁﬁ?m‘fﬂjza
P9 T-V 9% YaId & s (Set T qeHH, V Smaa)
fSraat ot Fram &t fog Tan ara ga & T 31

i

(1 A>H>p
3) A>P>P

@ P>P>R
4) P>R>h

F = ot? + Bt &R0 afeaite we oot el 1 e £ o)

e YT UT ST BT & 191S o T B +araias &
1 o 9 B a1 gk e B 7

a @ P/

3 ) apr
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Chemistry : Section-A (Q. No. 51 to 85) |
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54

Given below are two statements:

Statement I : Aniline does not undergo Friedel-

Crafts alkylation reaction.

Statement II : Aniline cannot be prepared through

Gabriel synthesis.

In the light of the above statements, choose the

correct answer from the options given below:

(1) Statement I is incorrect but Statement II is
true.

(2) Both Statement I and Statement Il are true.
(3) Both Statement I and Statement II are false.
(4) Statement I is correct but Statement II is
false.
Match List I with List II.
List I List IT
(Compound) (Shape/geometry)
A. NH4 I.  Trigonal Pyramidal
B. BrF; II.  Square Planar
C. XeF, III. Octahedral
D. SF¢ IV. Square Pyramidal

Choose the correct answer from the options given
below:

(1) A-II, B-III, C-1V, D-1
(2) A-L B-1V, C-II, D-III
(3) A-II, B-1V, C-III, D-1
(4) A-IIL B-1V, C-1, D-l1
Match List I with List II.
List I List IT
(Molecule) (Number and types of
bond/s between two
carbon atoms)
A. ethane I. one o-bond and
two m-bonds
B. ethene II. two m-bonds
C. carbon III. one ¢ -bond
molecule, C,
D. ethyne IV. one ¢ -bond and

one m-bond
Choose the correct answer from the options given
below:
(1) A-IIL, B-1V, C-I, D-II
(2) A-I, B-1V, C-II, D-III
(3) A-1V, B-III, C-1I, D-1
(4) A-IL B-1V, C-1I, D-1

For the reaction 2A =B+C, K, =4x107. Ata

given time, the composition of reaction mixture

is: [A]=[B]=[C]=2x10"M.

Then, which of the following is correct?

(1) Reaction has gone to completion in forward
direction.

(2) Reaction is at equilibrium.

(3) Reaction has a tendency to go in forward
direction.

“4)

Reaction has a tendency to go in backward
direction.
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T 1 (difies)

oOwp

oOow

I &1 B fow T &

F 1 : T WIsa—shIeed Ufehain o itHfshar
& Bl B

Fo 11 : TR &l s S9eiuer g el S9mEn o
bl & |

IR U T AT & MR IX, T fau T fawedt 9
& I g

(1) ®u 17ad & aig & 1 9 1

(2) ®u 18X & 11 3T 9 2|

(3) %91 3iX Hu= 11 3 Ted & |

(4) ®uT 198 5 Uiy HYA 1 Tad 2 |

Tl | o1 T 11 & a1 fam sifg:

A 1 (smfa/
wTfifer)
NH, L P fifE
BrFs I = qoaer
XeF, II. Seheb
. SFy IV. = e
=i fag Ty faeedt & w8 IR g
(1) A-IL B-IIL, C-1V, D-I
(2) A-L B-1V, C-II, D-III
(3) A-IL B-1V, C-lIL, D-I
(4) A-IIL, B-IV, C-I, D-II

Tl Lt g 1 o e e it
il A II (1 F1dT aeAmLeH
(s) ¥ EHt A FEn AR

TET)
T [ % o-3eY 3K
al m-oTEy
T . & g-emEy
& 3 C,y . Uk -3y
. TUEA IV. & o-31Ey &k

Tdh 7-3TEY

e g Ty fepedt & wE 3T YT
(1) A-IIL B-1V, C-I, D-1I
(2) A-L B-1V, C-II, D-1IT
(3) A-1V, B-II, C-II, D-I
4) AL B-1V, C-II, D-I

afufFaT 24 = B+C % g K_=4x107 ¥ e
fqu U Ty ux, arfuferar frgor o d@ue
[A]=[B]=[C]=2x10"M.

a9, Freffaa A @ d-aradi & 7

(1) arfuferar s feam # qof 21 gar 81

(2) erfafshar arr WX &

(3) rfufspam @ orr faem & S &t ygta 31
(4) itaferar &1 uea faem & 919 &1 wgfa ¥
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Match List I with List II.
List I List 1T
(Process) (Conditions)
A. Isothermal I.  No heat exchange
process
B. Isochoric II. Carried out at
process constant temperature
C. Isobaric HI. Carried out at
process constant volume
D. Adiabatic IV. Carried out at
process constant pressure
Choose the correct answer from the options given
below:
(1) A-II, B-IIL, C-1V, D-I
(2) A-1V, B-III, C-II, D-I
(3) A-1V, B-1I, C-I1I, D-I
(4) A-l, B-II, C-1II, D-IV
Match List I with List II.
List I List IT
Quantum Number Information provided
A m I.  shape of orbital
B. m II.  size of orbital
C. 1 III. orientation of
orbital
D. n IV. orientation of spin
of electron

Choose the correct answer from the options given
below:

(1) A-IL B-I, C-1V, D-III

(2) A-L B-IL C-II, D-IV

(3) A-IIL B-1V, C-I, D-II

(4) A-IL B-1V, C-1I, D-1

Arrange the following elements in increasing
order of first ionization enthalpy:

Li, Be, B, C, N

Choose the correct answer from the options given
below:

(1) Li<Be<N<B<C

(2) Li<Be<B<C<N

(3) Li<B<Be<C<N

(4) Li<Be<C<B<N

Among Group 16 elements, which one does NOT
show -2 oxidation state?

(1) Po 2) O

(3) Se 4) Te

In which of the following equilibria, K, and K
are NOT equal?

(1) 2BrCly) = Bryg + Cly,

(2) PClsg) = PClyg) * Clyg)

() Hyg) *lyg = 2 Hig

(#) €O+ HyOrg = COyg) T Hygq)
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(e Fem)
A.
B.
C.
D.
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Tl Lt g 1 o ane frers etfor:

T () T I (R

FEATI WehH B3 SoAT Tt T2

REIDGIRER E ) e Qg U &1 o )

REEHEIDR E et emga wT A
SIcIES!

TG WohH IV. fer g9 o &t o )

:ﬁ%%qw&]am%aﬁwgﬁq

(1) A-II, B-IIL C-1V, D-I

(2) A-1V, B-111, C-II, D-I

(3) A-IV, B-IL, C-IIL, D-I

(4) A-l, B-II, C-1II, D-IV

Tl Lot g 1 o e e it
?Izﬁ | '{fﬁ 1I
(Suetesr AFTRN)
I &% Bl 3G
II. ®eH BT BN
III. %&d &I STrafa=ara
IV. S % ThT Bl
artifer=ama
e few Tq fqsedt | /€ SO g
(1) A-IL B-I, C-1V, D-III
(2) A-1, B-III, C-II, D-IV
(3) A-IIL B-1V, C-I, D-lI
4) A-II, B-1V, C-I1, D-1

FtaRad Il &l TUH ST T-Iwdl & 9%d e |
TR BT

Li, Be, B, C, N

I3 feu 1o fysedt & @& ITX g

(1) Li<Be<N<B<C

(2) Li<Be<B<C<N

(3) Li<B<Be<C<N

(4) Li<Be<C<B<N

T 16 T@ § | BHIT—a1 —2 SATRIHI0T e T
gorfar € ?
(1) Po
(3) Se

L.
II.
1.

n’ll

my

[
n

2) O
(4) Te

et amii & & fopad K, 3K, &\ & E

(1) 2BICly, = Bry, + c12(g)
(2) PClsg) = PClyg) *+ Clyg
() Hy) T Iy = 2 Hl,

(#) €O+ HyOrg) = COy) * Hyg)
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The reagents with which glucose does not react
to give the corresponding tests/products are

A. Tollen’sreagent ~ B. Schiff’s reagent
C. HCN D. NH,OH

E. NaHSOj;

Choose the correct options from the given below:
(1) Eand D (2) BandC

(3) AandD (4) BandE

Identify the correct reagents that would bring
about the following transformation.

O—CHZ—CH:CHZ -
<:>—CH2—CH2—CHO

H,O/H"
PCC
H,O/H*
CrOy
BH;

(M
2)
3)

(1)
(ii)
(1)
(ii)
(1)
(ii)
(iif)
(1)
(ii)
(iif)
(iv)
The E° value for the Mn3*/Mn?" couple is more
positive than that of Cr3*/Cr2* or Fe3"/Fe?" due
to change of

(1) d3to d> configuration

(2) d to d* configuration

(3) d5 to d? configuration
(4) d*to d3 configuration

/ o
H202 OH
PCC

@) BH;

/ o

H202 OH

alk. KMnO,
@

H3O

Given below are two statements :

Statement I : Both [Co(NH3 )6 T+ and [CoFé ]37

complexes are octahedral but differ in their
magnetic behaviour.

3+
Statement II : |:CO(NH3 )6} is diamagnetic

3- . .
whereas [COFJ 1S paramagnetic.

In the light of the above statements, choose the
correct answer from the options given below:

(1) Statement I is false but Statement II is true.
(2) Both Statement I and Statement Il are true.
(3) Both Statement I and Statement II are false.
(4) Statement I is true but Statement Il is false.
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T srfveeen b T ToprE sfufshan &Y dear §
R T qUEvT/IATE Tl < B, &
A. <oa aifqede B, e sfwets

C. HCN D. NH,OH
E. NaHSO;

Ira fau 1o fysedt & @& ITX g

(1) EsirD (2) BsiRC
(3) AsD (4) B3iRE

e rfiepHehl &l TEaTT S frefaiad wgiaer
B B |

<:>— CH,— CH=CH, -
<:>—CH2—CH2—CHO

H,O/H*
qr.arHn
H,O/H*
CrOy
BH,

() @@
(i)

2
(i)

3

(i)

(iii)

Q)

(i)

(iii)

(iv)

Mn3*/Mn?* g & fag E° 7 Cr3*/Cr?* =

Fe3*/Fe2" & frfaad afkad= & wiier sifte a-iers

T E

(1) d33d° fa=ma

2) d5%d? fa=ma

3) d%%d? fa=ma

4) d*¥g dd faama

=i g1 e fag T R

w1 [CO(NH3)6T+ 3 [COF()T_ <Y e
SEHADY & Ui JIhd FAER H 91 314 2 |
e 11 : |:CO(NH3)6T+ wfagaaa & safs

[c&&"a@mﬁa%

U T T HUAl % SER WY, A U U fawedt @
T I G

(1) %9 [ 7Tad & uig &9+ 11 9 81

(2) ®U 1 3K a1l S T & |

(3) a1 38X & 11 =1 Tord £ |

(4) &9 198 & 9ig B 1 Tad 3

/e
H202 OH
qr.arEn
4) BH,

/@
Hzoz OH
aTﬁ?IKMnO4

®
H3O
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Fehling’s solution ‘A’ is

(1) aqueous sodium citrate

(2) aqueous copper sulphate

(3) alkaline copper sulphate

(4) alkaline solution of sodium potassium
tartrate (Rochelle’s salt)

In which of the following processes entropy

increases?

A. A liquid evaporates to vapour.

B. Temperature of a crystalline solid lowered
from 130 K to 0 K.

C. 2 NaHCO3(5—>Na,COs3 + COy + HyOp

D. Clyg—2 Cl(g)

Choose the correct answer from the options given

below:

(1) CandD (2) AandC

(3) A,BandD 4) A,CandD

The energy of an electron in the ground state
(n= 1) for He* ion is —x J, then that for an electron
in n = 2 state for Be3* ion in J is :

4
(1) —5x @)

—X

X

3 -3 —4x

4

Match List I with List II.

List I (Reactions) List IT (Reagents/

Condition)

(0]
L (:chv
Anhyd.AICl;
(0)
5 O-0r0

A. C>=<:>—>2<:>=O

CrOy
OH O
c O - 1. KMnO,/
KOH, A
CH,CH,
p. O 7 7> IV. (i) O,
COOK )
[:j/ (ii) Zn-H,0

Choose the correct answer from the options given
below:

(1) A-I, B-1V, C-II, D-III

(2) A-1V, B-L, C-III, D-II

(3) A-IL, B-I, C-II, D-1V

(4) A-1V, B-I, C-II, D-1I
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BT faeas ‘A’ g &:

(1) e afsam fage

(2) ST HIUT qEhe

(3) &g BT gehe

(4) wifsgd urehimg <reie (A aaGur) & A
ICLER

ffeiiaa ® 9 foh Wbl § Traidl Sl & 7

A. T& g9 9] ¥ i & 1

B. U fthtedia s &1 am 130 K & 0 K de gear 81

C. 2NaHCO3(>NayCOs) + COypy + HyO )

D. Cly,—2Cly,

I faw U fasedt & W& sAR giT:
() CaD (2) AsiRC
(3) A,BaD (4) A,C3D

He™" 31ma &l qa o1awe (n = 1) ¥ fpell gaerz &
Toll —x J &, a9 Be3™ o1ae &l n = 2 aaen § suferd

FAF & forg J F St B &
(1) 5 @ -x
3) —% (4) —4x
T [ o1 g4l 11 o are fram difeg:
T T
(erfwfoRam) (srfyrerier/Reafa)
(0]
OO0 1L g
st AICL,
(0]
[j—»[:ﬁk(j I Cro,
[:fOH—+[:fO I KMnO,/
KOH, A
CH,CH,4
<r > IV. (i) Oy
COOK y
©/ (i1) Zn-H,O
e few g fqsedl | /€ SOX g
(1) A-L B-IV, C-II, D-III
(2) A-IV, B-L, C-II, D-II
(3) A-IIL B-L, C-II, D-IV
(4) A-IV, B-L, C-II, D-III
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Activation energy of any chemical reaction can

be calculated if one knows the value of

(1) rate constant at two different temperatures.

(2) rate constant at standard temperature.

(3) probability of collision.

(4) orientation of reactant molecules during
collision.

The most stable carbocation among the following
is:
CH,

CH,4

CH,

@ | -
C
3) CH3/ H\CHZ/ (fH

CH,
) QgHz

2
Given below are two statements:
Statement I : The boiling point of three isomeric
pentanes follows the order
n-pentane > isopentane > neopentane
Statement II : When branching increases, the
molecule attains a shape of sphere. This results
in smaller surface area for contact, due to which
the intermolecular forces between the spherical
molecules are weak, thereby lowering the boiling
point.
In the light of the above statements, choose the
most appropriate answer from the options given
below:
(1) Statement I is incorrect but Statement II is
correct.
(2) Both Statementland Statement Il are correct.
(3) Both Statement I and Statement II are
incorrect.
(4) Statement I is correct but Statement II is
incorrect.

Which one of the following alcohols reacts
instantaneously with Lucas reagent?

CH,4

(1) cH,- (:: ~OH
CH,
(2) CH,-CH,-CH, -CH,OH
(3) CH,-CH, - (‘3H —OH
CH,
(4) CH,- C|IH —CH,OH
CH,
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Tt oft ramafe erfufean &1 afpaur Sot ufiafaa
%! S Teball & IS FfaRad ol | oid &l
(1) @ f=r qmaf ux 3 Reis
(2) u™® 9 9T T Reti
(3) HHEA @l WTRhar
(4) HEA &b SO siftereas Tpeti e eifhfa=ama
frefafad & & 999 orftre Wl eeeHEe &
CH,

M

@) g Ncu
bl @

CH;4

o
CH,4
CH,4

@ |
ANy, T

G) cn
3 CH,

€)) |:>— 8H2

a3 e few o R

FUA 1 2 A FHagdl U=l & Fageih eranad %A
T YT B &

n-U=H > SMEHEU=A > fHanu=ea

o 11 : 579 9@ 961 ¢, T 377] T T &l STHT
W WAl ¢ | 39 ufumTEsy, dwst & g gs &ewd
%W Bl ST & FoTeh IR0 Tl STU[3T o S SIaTsied
T G 81 91 & 31X 39 BT FAIh BH 81 ST & |
IUX U T4 HUAl % SER WX, A feu T fasmedt
e Soga v g

(1) %9 [ Tad & aig &9 11 9 8

(2) ®I 13X a1l S T 2|

(3) ®uA 13X Bu 11 S Terd & |

(4) ®u 198§ Uig HYA 1 Tad 2 |

frefafaa Ywpieral & ¥ BF-—a1 ©gbd sAfHEs &
T ATETeh SITHIHAT BT ?

CH,
|
(1) CH3—$—OH

CH,

(2) CH,-CH,-CH,-CH,0H
(3) CH,-CH,- CH -OH

CH,4

(4) CH,- (I:H —CH,OH

CH,
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The Henry’s law constant (Ky;) values of three
gases (A, B, C) in water are 145, 2x107> and
35 kbar, respectively. The solubility of these gases
in water follow the order:

() A>B>C 2) B>A>C
(3) B>C>A 4 A>C>B
Which plot of In k vs % is consistent with
Arrhenius equation?
0 1
e~ -~
m = @ =
T - T -
) / 0
4 -
3 Z @ Z
- % -

On heating, some solid substances change from
solid to vapour state without passing through
liquid state. The technique used for the
purification of such solid substances based on the
above principle is known as

(1) Chromatography (2) Crystallization

(3) Sublimation (4) Distillation

Intramolecular hydrogen bonding is present in
(1) HF

NO,
o CX
OH
NO,
O @

NO,
Nej

HO

1 gram of sodium hydroxide was treated with
25 mL of 0.75 M HCl solution, the mass of sodium
hydroxide left unreacted is equal to

(1) 200 mg (2) 750 mg

(3) 250mg (4) Zeromg

Which reaction is NOT a redox reaction?
(1) BaCl, +Na,SO, — BaSO, +2 NaCl
(2) Zn+CuSO4 = ZnSO,4 + Cu

(3) 2KClO;+1, = 2KIO; +Cl,

(4) H,+Cl, > 2 HCI
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d Tt (A, B, C) o fog 78w Rerties (K ) w19
%A 145, 2x1075 31T 35 kbar ¥ 139 7@} &1 5/l &

facraand frefaRad 9 @1 are S &
(1) A>B>C 2) B>A>C
(3) B>C>A (4) A>C>B

Freffiaa & & 2 & In k ofR T % 9

S+ FHI T 6 STER & ?
1 i 1
1 = @ =
%—) T -
L/ ! i
3) = @ =
%—) i

T & X, PO 39 Uard § 91 g9 averen ¥ [Ad
TU TS Sraen ¥ ufkafdd 81 97 § |y fou fagia &
YT 9% UH 314 a1l % SNe & faq yged damiie
HEAT &

(1) avicRas! (2) T

(3) SeEuaH (4) emEan

3 ST BIESIoH Sa fope & Suftard giar & ?
(1) HF

NO,
o X
OH
<
3) HO

NO,
© @f

HO

AifeaH sggiaaze & 1g &r 0.75 M HCI faeas &
25 mL @& 1o Sudtia fpar @, W emeituieiia
Aifeaw EESTHTES BT FeqHH TS BN

(1) 200 mg (2) 750 mg

(3) 250mg (4) Zeromg

Frreafafaa o & s sifufean teiem sifufean
Twie?

(1) BaCl, +Na,SO, — BaSO, + 2 NaCl

(2) Zn+CuSO4 = ZnSO, + Cu

(3) 2KClO;+1, > 2 KIO; +Cl,

(4) H,+Cl, > 2 HCI
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‘Spin only’ magnetic moment is same for which
of the following ions?

A.  Ti3t B. Cr?*
C. Mn2* D. Fe2*
E. Sc¢3t

Choose the most appropriate answer from the
options given below:

(1) AandDonly (2) BandD only

(3) AandEonly (4) BandConly

The highest number of helium atoms is in
(1) 2.271098 L of helium at STP

(2) 4 mol of helium

(3) 4 uofhelium

(4) 4 gofhelium

Match List I with List II.

List I (Complex) List IT (Type of
isomerism)
_Co(NH3 )5 (NO2 )} Cl, I. Solvate
isomerism
Co(NH;),(s0 4)}Br II. Linkage
isomerism
_CO(NH3)6} [Cr(eN)] 1L Ionization
isomerism
_Co (H20)6 } Cl3 IV. Coordination
isomerism

Choose the correct answer from the options given
below:

(1) A-IL B-1V, C-1II, D-1

(2) A-IL, B-III, C-1V, D-1

(3) A-L B-IIL, C-1V, D-II

(4)  A-L, B-IV, C-III, D-1I

Given below are two statements:

Statement I : The boiling point of hydrides of
Group 16 elements follow the order

H,O > H,Te > H,Se > H,S.

Statement II : On the basis of molecular mass,
H,O is expected to have lower boiling point than
the other members of the group but due to the
presence of extensive H-bonding in H,O, it has
higher boiling point.

In the light of the above statements, choose the
correct answer from the options given below:
(1) Statement I is false but Statement II is true.
(2) Both Statement I and Statement Il are true.
(3) Both Statement I and Statement II are false.
(4) Statement I is true but Statement II is false.
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T 1 (7ga)

A.

FrrfaRad 9 & o oTa=l & g “Taes 7 g9
ot T B § 7
A, Tidt

C. Mn2*

E. Sc3*

3 feu 1o fysedt & go9 & 39X g

(1) da@ AsiRD (2) ®aw BsikD
(3) Ha@ ASIRE (4) Faw BsiRC
SIfeTa™ TTHTSH @l Sifehad e ¢

(1) wadrdr ux ifeaw & 2.271098 L &
(2) dfwad & 4wl &

(3) dAfa B 4ud

4) Sfaa®s4gH

Tl [t g 1 o e e it
& 1 (Feraaaan
& TER)

Co(NH,), (NOZ)JCIZ I faamasdes

B. Cr2t
D. Fe2*

Co(NH, )5 (so, )} Br

Co(NH3)6J [cr(eN), ] 1L s

RALIEEERI

V. SuqedareH

FHEIIAT
A farw T el @ Y o g
(1) A-IL B-1V, C-III, D-I
(2) A-IL B-IIL, C-1V, D-I
(3) A-L B-IIL, C-IV, D-II
(4) A-L B-IV, C-IIL, D-1I

I a1 By faw T R

F L : T8 16 T@l & TEIIES| % FaLHIh Ffanad
% BT U B &

H,0 > H,Te > H,Se > H,S.

& 11 : Siveres 5™ o SEr 9 HyO @1 STt
FIIAH T8 & oI GI@l ¥ & Brar & uig H,0 &
feega H-oeem ot SuRUfd & Hv, g8 STaay
FILIH Bl |

IR U T HUAl & e Uy, A faw o faemedt |
/& AT g

(1) %9 [ 7Tad & uig &9+ 11 9 81

(2) ®91 3R BuF 11 S T 2|

(3) %A1 3iX Hu= 11 S Terd ¥ |

(4) &9 19 ¥ uig B9 11 Tad 3

_CO(H20)6j|Cl3

[ Contd...



82

83

84

85

A compound with a molecular formula of CgH 4
has two tertiary carbons. Its [UPAC name is:
(1) 2.,2-dimethylbutane
(2) n-hexane
(3) 2-methylpentane
(4) 2,3-dimethylbutane
Match List I with List II.
List I List IT
(Conversion) (Number of
Faraday required)
A. 1mol of H,0O to O, L. 3F
B. 1 mol of MnO, to I. 2F
Mn?2*
C. 1.5 mol of Ca from 1. 1F
molten CaCl,
D. 1 molof FeO to Fe,O5 IV. 5F
Choose the correct answer from the options given
below:
(1) A-IIL, B-IV, C-II, D-I
(2) A-II, B-IV, C-1, D-II
(3) A-IIL, B-1V, C-I, D-II
(4) A-IL, B-IIL, C-1, D-IV
The compound that will undergo Sy ! reaction
with the fastest rate is
CH,
oy @ O
Br
o Orn @ (Y
Arrange the following elements in increasing

order of electronegativity:

N, O, F, C, Si

Choose the correct answer from the options given
below:

(1) F<KO<N<C<Si

(2) Si<C<N<O<F

(3) Si<C<O<NK<F

(4) O<F<N<C<Si
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T 1

(wwieren)

A
B
C
D

& G CH 4 AT T AMfTes & 2 it e Sured
¥ 1 3Har omg. g e A, 9 ¥

(1) 2.,2-sEAtaasge

(2) nEFwS

(3) 2-afymu==

(4) 2,3-sEufuasged

Tl Lot g 1 o @y e etfor:

Tl
EictoeRnd
1 weE)
H,O % 1 9id & O, . 3F
MnO,, & 1 Hidf & Mn?" & 2F

Tidd CaCl, & Caw 1.5 9@
1 Aie FeO & Fe,05 "
A feu T faehedl @ @8 ST giMT:
(1) A-IIL B-1V, C-I1, D-I
(2) A-IL, B-1V, C-1, D-11I
(3) A-IIL B-1V, C-I, D-II
(4) A-IL B-IIL C-1, D-IV

II.
Iv.

IF
5F

T diftres S g9 A 4§ Sy ! erfufiran wam, &

o o O
e { @ @Br

frrafaRaa qa ®i el Feomeenan & sed w9 A aied
HIfTT:

N, O, F, C, Si

T faw U faeedt & W& SR g

(1) F<O<N<C<Si

(2) Si<C<N<O<F

(3) Si<C<O<NK<F

(4) O<F<N<C<Si
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Major products A and B formed in the following
reaction sequence, are

OH
r
3 A alc. EOH B
(major) (major)
OH O
H3Q Br H5C
(1) A= . B

Identify the correct answer.
(1) Three canonical forms can be drawn for

CO%‘ ion.

Three resonance structures can be drawn for
ozone.

BF5 has non-zero dipole moment.

Dipole moment of NF; is greater than that
of NH;.

The work done during reversible isothermal
expansion of one mole of hydrogen gas at 25°C
from pressure of 20 atmosphere to 10 atmosphere
is:

(Given R =2.0 cal K- mol1)

(1) 100 calories

(2) O calorie

(3) —413.14 calories

(4) 413.14 calories

Consider the following reaction in a sealed vessel
at equilibrium with concentrations of
N,=3.0x103M,0,=4.2 x 103 M and
NO=2.8x 10 M.

2N0(g) = N2 (&) + O2(g)

0.1 mol L-! ofNO(g) is taken in a closed vessel,

)

3)
4

what will be degree of dissociation () of NO,,

at equilibrium?
(1) 0.717
(3) 0.0889

(2) 0.00889
(4) 0.8889
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frrefafaa sitfean %9 9 a7 9 3am, A iR B &

OH
H,C y
pBr3 A Qwﬁ'ﬂFEKOH B
(3) (3e)
OH 0
H;C Br H;C
(D) A= . B=
Br
H;Q H,C
0 2 g
Br
H;C H;C
daeRthe
OH OH
H3Q Br H5C
4) A= . B=
HET IR GAw:
(1) Cog‘amésmehﬁﬁ%awaﬁﬂaaﬁm
ST Hehd & |
(2) 3 % fag A9 S @@ SnRad &l ST
el & |
(3) BF; @ R fe—ga omgel & 2|

(4) NF; @1 fa—ga amget NH, & fa—ga omgel &

aife 2 31
25°C UX U AId T1E3IeM 19 % 20 VARG 39 &
10 THATR®IR 3T T IchHUITT THATIR TETUT 3% QIR
fopan T B ¥
(feeam mar &: R =2.0 cal K- mol1)
(1) 100 calories
(2) O calorie
(3) —413.14 calories
(4) 413.14 calories

N,=3.0x10°M, 0,=4.2 x 103 M 3ix
NO =2.8 x 1073 M @igaraii & a1 fepd diesg g
¥ ffaiag 9 w1 e i

2N0(g) = N2 (&) + Oz(g)

?IlﬁNO(g)%EO.l mol L1 & Siersg urs # feran w1,
ar ferirst = (o) /B ?

(1) 0.717 (2) 0.00889
(3) 0.0889 (4) 0.8889
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For the given reaction:
(—c=cn KMnO/H" = p
I
H

Z:> (major

product)
‘P’is

The pair of lanthanoid ions which are diamagnetic
is

(1) Pm3*and Sm3" (2) Ce*"and Yb2*

(3) Ce3*and Eu?* (4) Gd3*and Eu3*

The products A and B obtained in the following
reactions, respectively, are

3ROH + PCl; >3RCl + A

ROH + PCls—>RCl+ HCI + B

(1) H;3PO5 and POCI,

(2) POCl; and H;PO4

(3) POCl; and H3PO,

(4) H;PO, and POCI,

Given below are certain cations. Using inorganic

qualitative analysis, arrange them in increasing
group number from 0 to VI.

A. APt B. Cu?*
C. Ba22+ D. Co?*
E. Mgt

Choose the correct answer from the options given
below:

(1) E;A,B,C,D (2) B,A,D,C,E

(3) B,C,A,D.E (4 E,C,D,BA

Given below are two statements :

3+
Statement I : |:C0(NH3)6:| is a homoleptic

+
complex whereas |:CO(NH3)4C12:| is a

heteroleptic complex.

3+
Statement II : Complex |:CO(NH3 )6} has only

+
one kind of ligands but [CO(NH3)4C12J has

more than one kind of ligands.

In the light of the above statements, choose the
correct answer from the options given below:
(1) Statement I is false but Statement Il is true.
(2) Both Statement I and Statement II are true.
(3) Both Statement I and Statement II are false.
(4) Statement I is true but Statement Il is false.
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31 TS sttt & fea:
O_? =CH KMHO4/H+
H

‘PR Z:>
0
o Ot

YPV
(7= 3@me)

TIAIS Al B I8 A oIl H(Tgadd o, &
(1) Pm3*air Sm3* (2) Ce*tafir YbZ'
(3) Ce3* @R Eu?" (4) Gd3* &k Eud*

frfeaRaa sifafsparsti & s SdrE, A ofit B %A &
3ROH + PCl; —>3RCl + A

ROH + PCl5 —->RCI+HCI+B

(1) H;PO; wa POCI;

(2) POCI; Td H;PO;

(3) POCI;Td HyPO,

(4) H;PO, T POCI;

Ia 3B garE fau T ¥ | srerefe et fagerer
% SUANT &1, B Sed! @e 9ed 0 ¥ VI dew # gaiea

A. AT B. Cu?*
C. Ba?f D. Co?*
E. Mg

I3 fau 1o fysedt & @& ITX g

(1) E,A,B,C,D
(3) B,C,A,D,E

T &1 s fgu o &
FH 1 [CO(NH3)6T+ T EHIATES G &

(2) B,A,D,C,E
4) E,C,D,B,A

EEiT) [CO(NH3)4C12T T TN T ¥ |
%o 11 : dgpe [CO(NH3)6T+ % %had Th YBR B

ﬁﬂﬂ%’%‘ﬂﬁlﬁﬁ[Co(NH
Y &b fors 2|

IR faU T HUAl & Sy Uy, A faw o foemedt |
& I g

(1) ®u 17ad & aig & 11 9 1

(2) ®HI 13X a1 S T &1

(3) ®u 1 3K %o 11 I e 1

(4) &9 19 ¥ uig B9 1 Tad 3

)0 | e e
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A compound X contains 32% of A, 20% of B and
remaining percentage of C. Then, the empirical
formula of X is :

(Given atomic masses of A=64; B=40; C=32u)
(1) ABCy (2) A,BC,

(3) ABC4 (4) AB,C,

The plot of osmotic pressure (IT ) vs concentration
(mol L) for a solution gives a straight line with
slope 25.73 L bar mol~!. The temperature at which
the osmotic pressure measurement is done is:
(Use R =0.083 L bar mol! K1)

(1) 12.05°C (2) 37°C

(3) 310°C (4) 25.73°C

Identify the major product C formed in the
following reaction sequence :

CH3 —CH2 —CH2 —Iﬂ)A

OH™ NaOH

- - C
Partial hydrolysis Br2 (maj or)

o —bromobutanoic acid
propylamine
butylamine

butanamide

(1
)
3)
4
During the preparation of Mohr’s salt solution
(Ferrous ammonium sulphate), which of the
following acid is added to prevent hydrolysis of
Fe2* jon?

(1) dilute sulphuric acid

(2) dilute hydrochloric acid

(3) concentrated sulphuric acid

(4) dilute nitric acid

The rate of a reaction quadruples when
temperature changes from 27°C to 57°C.
Calculate the energy of activation.

Given R =8.314 J K~! mol, log 4 =0.6021
(1) 3804 kJ/mol (2) 38.04 kJ/mol

(3) 380.4kJ/mol  (4) 3.80kJ/mol

Mass in grams of copper deposited by passing
9.6487 A current through a voltmeter containing
copper sulphate solution for 100 seconds is:
(Given : Molar mass of Cu : 63 g mol™!,

1F =96487 C)
(1) 0.0315¢
(3) 0315¢g

(2) 3.15¢
4) 315¢
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e it X § A 32%, B & 20% 3T 9w wfeerd C
& ¥ 199 X BT AT G &

(R anfas gemm@ A = 64; B=40; C=32u)
(1) ABC, 2) A,BC,

(3) ABC, (4) AB,C,

fepelt farea o foTa wreRer a1« (17) 3R gigar (Jie
w1 %) & dia se we T 1@ At § et gra
25.73 L bar mol! ¥| 9 a0 & X qx@®e g9
HIOT T E, ¥

(R = 0.083 L bar mol~! K- sifsrm)

(1) 12.05°C (2) 37°C
(3) 310°C (4) 25.73°C
frefafaa sitfean 9 & a1 J&a 3@ C &

CH3 —CH2 —CH2 —INa—CN>A

OH™ NaOH
FTTYTeh STeTaEre Br, c
2 (=)
(1) o —smregeEs srd
(2) WifteH
(3) sgfewTHE
(4) =gemIEE

X @997 faeae (B3E SmMIaw dehe) & favas &
g, ffafaa & @ fba e &l Fe?' omaw &
STETIEE T bl o [0TT TIATHT 1T & ?

(1) o Serfe o

(2) qF FTESIERAING A

(3) uix qeRIfe o

(4) g TEieh =

W9 a9 @& 27°C § 57°C qiafdd fear siar & a9
fopdlt arfafepa &1 3T TR T[T 21 AT § | |ishaer St
qiied BT

femmmad: R =8.314 JK 1 mol-!, log4 = 0.6021
(1) 3804kJ/mol  (2) 38.04 kl/mol

(3) 380.4kJ/mol  (4) 3.80 kJ/mol

HIIT Tehe forerae arer ferdl dieedier & 100 Ydbs &
{77 9.6487 A ferera—am wanfed s ux e st
%1 U H GH B

(fezm a1 % ¢ Cu &1 Ao S| ™

63 gmol!, 1F = 96487 C)

(1) 0.0315¢ (2) 3.15¢

(3) 0315¢g 4) 315¢
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The cofactor of the enzyme carboxypeptidase is:
(1) Haem (2) Zinc
(3) Niacin (4) Flavin

Given below are two statements:

Statement I : Parenchyma is living but
collenchyma is dead tissue.

Statement II : Gymnosperms lack xylem vessels
but presence of xylem vessels is the characteristic
of angiosperms.

In the light of the above statements, choose the
correct answer from the options given below:
(1) Statement I is false but Statement Il is true
(2) Both Statement I and Statement II are true
(3) Both Statement I and Statement II are false
(4) Statement I is true but Statement II is false

Spindle fibers attach to kinetochores of
chromosomes during

(1) Telophase (2) Prophase

(3) Metaphase (4) Anaphase

In a plant, black seed color (BB/Bb) is dominant
over white seed color (bb). In order to find out
the genotype of the black seed plant, with which
of the following genotype will you cross it?

(1) BB/Bb (2) BB

(3) bb (4) Bb

The equation of Verhulst-Pearl logistic growth is

dN K-N
=N
a " { K }

From this equation, K indicates:

(1) Population density

(2) Intrinsic rate of natural increase

(3) Biotic potential

(4) Carrying capacity

How many molecules of ATP and NADPH are
required for every molecule of CO, fixed in the
Calvin cycle?

(1) 3 molecules of ATP and 2 molecules of
NADPH

2 molecules of ATP and 3 molecules of
NADPH

2 molecules of ATP and 2 molecules of
NADPH

3 molecules of ATP and 3 molecules of
NADPH

)
3)
4
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101

102

103

104

105

106

TTI3H BISIRIUNEST Bl TEhIih (hIha) &
(1) ™ Q) fi®
(3) frenfm (4) wRE

T &1 s fou o ¥

o 1 2 9ga Tild Al sAuIaeh Jd S ¢ |
w11 : f=rerdm (sFgadifngt) & q arfeen
(errgadiferar) @l fagromr 31

UG HUAI % e H, fau T fadmedi # 9§ wE saT
@ gHa:

(1) %971 38 & Afeb b 11 9 1

(2) ®uT 13X B 11 I T B |

(3) ®u 1 3T B 11 S orae |

(4) ®u7 19 T AfhT A 11 o 2 |

% g9 fdsd wIEad UGS % HEAADHI A
BERIGES
(1) SiereedT (3dme) (2) gatawar (W)
(3) HeATERAT (WeThe) (4) gyaTaee (TATh)

T 91y H, 91 & @il 7 (BB/Bb) @hg 11 (bb)
T JHTE £ | el ST Tl 18T ol SI9eY 37d 6 &
o, ot ST o =faiad o 9 b siwed &

qIeY o 91 Hu ?
(1) BB/Bb (2) BB
(3) bb (4) Bb

ATEFR—Ud ghgard gig (qTtafeeen Ter) &1 THeser

dN  [K-N
¥

=g gl § K fafed s @
(1) & g9

(2) vpiaw ghg @l 7= X
(3) ifae e9an

(4) 4rTor eHar

HivaT g ¥ Afeied 39 a CO, & TS 3T &
foTg ATP 3iR NADPH & fepast a1opaii @ smagarear
BT ?

(1) ATP % @ o17] 3k NADPH % 2 31]

(2) ATP % 3 &1 3t NADPH & 3 a17]

(3) ATP & 3 & 3k NADPH % 2 317

(4) ATP % @9 &7 3t NADPH & 3 a17]
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107 Match List I with List II

108

109

110

111

O 0w »

List I List IT
Clostridium I.  Ethanol
butylicum

Saccharomyces II.  Streptokinase
cerevisiae

Trichoderma III. Butyric acid
polysporum

Streptococcus sp. IV. Cyclosporin-A
Choose the correct answer from the options given
below:

(1) A-1V, B, C-11I, D-II

(2) A-II, B-1, C-1I, D-IV

(3) A-IL B-1V, C-1II, D-1

(4) A-lI, B-1, C-1V, D-1I

These are regarded as major causes of biodiversity
loss:

A. Over exploitation

B. Co-extinction

C. Mutation

D. Habitat loss and fragmentation
E. Migration

Choose the correct option:
(1) A,BandD only

(2) A,CandD only

(3) A,B,CandD only
(4) A,BandE only

Given below are two statements:

Statement I : Chromosomes become gradually
visible under light microscope during leptotene
stage.

Statement I1 : The begining of diplotene stage is
recognized by dissolution of synaptonemal
complex.

In the light of the above statements, choose the
correct answer from the options given below:
(1) Statement I is false but Statement II is true
(2) Both Statement I and Statement II are true
(3) Both Statement I and Statement II are false
(4) Statement I is true but Statement II is false

Auxin is used by gardeners to prepare weed-free
lawns. But no damage is caused to grass as auxin
(1) can help in cell division in grasses, to
produce growth.

(2) promotes apical dominance.

(3) promotes abscission of mature leaves only.
(4) does not affect mature monocotyledonous
plants.

A pink flowered Snapdragon plant was crossed
with a red flowered Snapdragon plant. What type
of phenotype/s is/are expected in the progeny?
Red, Pink as well as white flowered plants
Only red flowered plants

Red flowered as well as pink flowered plants
Only pink flowered plants
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107 = L o1 o 1 & e st
Tl

108

109

110

111

o 0w »

11

FArLfEaT L. qa:%

m II. wWsEaE

Zrsisar EEHEG

1. 3T

gt

Beidiad o, IV. dEaEiE-A
%mwﬁwﬁ%vﬁwﬁrgﬁq

(1) A-1V, B-I, C-III, D-II
(2) A-IIL B, C-II, D-IV
(3) A-IL B-1V, C-III, D-I
(4) A-IIL B-I, C-1V, D-II

3! Stafafererar i &1 % T ST AT ST &
rfcrare

mOOw>

(1) %WfA,BaﬁTD
(2) Faw A, C3iRD
(3) ®a@ A,B,CsiRD
(4) %ad A, BeRE

e 31 B few U ¥

F 1 2 A T0T/3TeT b QO YapleT geaastt §
%@%ww(ﬁn‘t@rﬁ)mw%ﬁ@ééﬁwﬁ
|

FoA I : fEwEN axur/sreren & A &I 98dH
e e wreaed & fodier § gy ¥1
m@wmaﬁﬁsmﬁ fam o faenedl # & & 3T

(1) e | ora & A e [ 31
(2) ®uT 13X B 11 I A B |
(3) ®u 1 3T B 11 <Y orEe & |
(4) U1 9T T WichT B 11 318 B

TdaR e sirar MR & & g A siffes

T SUATT HId & | Ak 3TY I BI HI3 AT &l eral

T it erfer:

(1) wgﬁmﬁwﬁmﬁw%ﬁﬂﬁ
|

(2) T ! Grrfed Bt 2 |

(3) waw ufkuea ufqarl & fae ™ & & wented

4)

HIAT B

TEh TSI UIEH| bl FHTfad -Tel &dm & |
T T[ATEl g I TUSTE b e BT A1 gl el
IS o WY % T HebLT BT 79T | Gald § fopd
TehTT o WEUTHEY o &I bl SHIG i STl & 7
(1) e, ATl & a1 & 9% g9 a1 g
() ﬁmﬁw%faﬁqﬁé
(3) QI @I SR T[S ST Tl drey
(4) %I TAE! g AT 9
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112 Which of the following are required for the dark

113

114

reaction of photosynthesis?

A. Light B.  Chlorophyll
C. CO, D. ATP
E. NADPH

Choose the correct answer from the options given
below:

(1) DandE only

(2) A,BandC only

(3) B,CandD only

(4) C,DandE only

The lactose present in the growth medium of
bacteria is transported to the cell by the action of:
(1) Polymerase (2) Beta-galactosidase
(3) Acetylase (4) Permease

Identify the type of flowers based on the position
of calyx, corolla and androecium with respect to
the ovary from the given figures (a) and (b)

(1) (a) Perigynous; (b) Perigynous
(2) (a) Epigynous; (b) Hypogynous
(3) (a) Hypogynous; (b) Epigynous
(4) (a) Perigynous; (b) Epigynous

115 Match List I with List II

116
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oSOwp

ListI List II
Rhizopus I.  Mushroom
Ustilago II.  Smut fungus
Puccinia III. Bread mould
Agaricus IV. Rust fungus

Choose the correct answer from the options given
below:

(1) A-1V, B-III, C-1I, D-1

(2) A-III, B-1I, C-1V, D-1

(3) A-L B-III, C-II, D-1V

(4) A-lI, B-II, C-1, D-IV

The type of conservation in which the threatened
species are taken out from their natural habitat
and placed in special setting where they can be
protected and given special care is called;

(1) Sustainable development

(2) in-situ conservation

(3) Biodiversity conservation

(4) Semi-conservative method
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112 YebIQTEeeoo &l ST SATHishal b foQ freferfad &

113

114

ERCARS GG I I

A, YHT B. w@Rifea (qofefia)
C. CO, D. ATP

E. NADPH

e few o fasedt & @ & SO @ g

(1) waw@ DsiRE

(2) Fad A, BairC

(3) ®a@ B, C &k D

(4) ®a@ C,D3RE

SHraTopet % gl e ¥ IuRed W Hi BITTeRT F
& fepan g srfvfira fepan sam 21

(1) dreimeE (2) dE-TEEESg

(3) uftfeed (4) wifreE

feg U fa=il (a) of7 (b) & sfetem & dey A arerRays

(Spfeterer), TG (BIRTe) SR g (Trgfiram) @t Rafa

% STER U g % b Bl Gedig |

(1) (a) wfesmrrt (b) whsmEi
(2) (a) SEEUiE (b) SEITTER
(3) (a) SR (b) SEFMAE
(4) (a) wfesERl (b) STETTH®

115 g [ o1 gdr 11 & frams st

116

oow

T T 1l
TEATT . #AstEd
ST II. @< (%) ®ad
geRdIfrar I S A B Bha
TIR%d IV. & (fhz2) ®a%
— feu T faeeai @ W& AT @B g
(1) A-IV, B-I1, C-II, D-I
(2) A-II, B-II, C-1V, D-1
(3) A-L, B-IIL C-II, D-IV
(4) A-I, B-II, C-1I, D-IV

T BT I8 b forew faaager sfa & 3%
UTehfcreh TaTaTe § S1e X Heptaes fashy srewen (&fém)
H T ST § STt 9 gRiad 1@ ol & ST Il fagy
@A BT AT &, T8 BEATT &

(1) Gad faema/daraantt faem

(2) @™ g

(3) Sratataear @x&w

(4) ord—avel fafy
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117 Match List I with List II

118

119

120

A.

B.

C.

D

List I List IT

Nucleolus I.  Site of formation
of glycolipid

Centriole II. Organization like
the cartwheel

Leucoplasts III. Site for active
ribosomal RNA
synthesis

. Golgi apparatus  IV. For storing nutrients

Choose the correct answer from the options given
below:

(1) A-L B-II, C-lII, D-IV

(2) A-IIL, B-II, C-1V, D-1

(3) A-IL B-IIL, C-1, D-IV

(4)  A-IIL, B-1V, C-II, D-I

The capacity to generate a whole plant from any
cell of the plant is called:

(1) Somatic hybridization

(2) Totipotency

(3) Micropropagation

(4) Differentiation

Formation of interfascicular cambium from fully
developed parenchyma cells is an example for
(1) Maturation

(2) Differentiation

(3) Redifferentiation

(4) Dedifferentiation

Which one of the following can be explained on
the basis of Mendel’s Law of Dominance?

A. Out of one pair of factors one is dominant
and the other is recessive.

B. Alleles do not show any expression and both
the characters appear as such in F,
generation.

C. Factors occur in pairs in normal diploid
plants.

D. The discrete unit controlling a particular
character is called factor.

E. The expression of only one of the parental

characters is found in a monohybrid cross.
Choose the correct answer from the options given
below:
(1) A,B,C,DandE
(2) A,BandConly
(3) A,C,DandE only
(4) B,CandD only
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118

119

120

T [t g 11| el shifere:

T Tl

A. gEeied (Bfss) 1. TaEsias &
Dl el

B. afeia II. Tt & qfew S
ESRIET]

C. THawe 1. afera TEaEHT
SITAY FYAHIT
Dbl el

D. el SUeh Ol IV. drwei & |
% faq

ra fau 1o fyaedt & & @& ST¢ @ ghw:

A-l, B-II, C-1II, D-IV

A-IIL, B-II, C-1V, D-1

(3) A-IL B-IIL C-I, D-IV

(4) A-IIL B-1V, C-II, D-I

uTey %Y FepET it BIT3TeRT | YUt urew Bl faesfid dw
GHAT BEAT! &

(1) e o

(2) qufgrerman (Srere=)

(3) gEWaYT (ATEHYTILH)

4) fave

qui: faresfaa Jaam! BIfTbst d Sagwa hiee™
T T %1 U SaTeX 2 |

(1) uftue=

(2) favew

(3) grfdsa

(4) tafgde=

frrfafad & § feeedt Srew & witaan & fem &
SITETT U T bl ST Febell & 7

A. HFRIFHTEH A A ¥ TH THET S E ST
AT E?

THIA Hig SR Jaiid el & & ok F,
Ul ® SA1 T[T SHT $Y H Uehe B W1 2 |

T g uredt & e St & Urg 9 2
foreit 7ot farsiw a6t e & arett fafaer gars
e HEAT B |

THAHHT THLT H HId Th % & 0T Bl
et BT 2|

I faw o faeedt § @ 981 SO @ gRTT:

(1) A,B,C,DaRE

(2) wawd A, BsixC

(3) ®a@ A,C,DsiRE

(4) %a@ B,C D

(M
)

B.

C.
D.

E.
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D.
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What is the fate of a piece of DNA carrying only
gene of interest which is transferred into an alien
organism?

A. The piece of DNA would be able to multiply
itself independently in the progeny cells of
the organism.

B. It may get integrated into the genome of the
recipient.

C. It may multiply and be inherited along with
the host DNA.

D. The alien piece of DNA is not an integral
part of chromosome.

E. It shows ability to replicate.

Choose the correct answer from the options given

below:

(1) AandEonly (2) AandBonly

(3) DandEonly (4) BandC only

Identify the part of the seed from the given figure

which is destined to form root when the seed

germinates.

(1) D 2) A

3) B @ C

Match List I with List I

ListI List II
Two or more L. Back cross
alternative

forms of a gene

Cross of F; II.  Ploidy
progeny with

homozygous

recessive parent

Cross of F, 1. Allele
progeny with

any of the parents

Number of IV.  Testcross
chromosome

sets in plant

Choose the correct answer from the options given

below:

(1) A-IV, B-III, C-II, D-I

(2) A-L B-II, C-lII, D-IV

(3) A-IL B-L, C-IIL, D-1V

(4) A-IIL B-1V, C-I, D-II
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121

122

123

A.

B.

3G SIUAY WS Bl T At el o R U Uy gitsd
S et fopy 2, 7 fonely feremidia <irar & wmiafa
fpa s % ?

A. DNA %1 €8 Sia &I €adfd BT § @as &d
Y IO B H FEH ST

B. 9% UTE % SiHM & |fehd & Tebar £

C. AT HTh TN (L) SITAT &% A1 LI
HT THT 5

D. DNA & 9 €S Jorgs &1 1= 91T 72}
T §1

E. 3 vfugfa &0 & emar yaiia & 31

Ira fau 1o et & & @2 sa% & ghw:

(1) dad@ ARE  (2) %ad A B

(3) da@DSRE (4) ®aw BsixC

fu U fo= & 1 % S€ 9T B 929 BT A1 Sl

% PN B U T BI T &

() D 2 A
(3) B 4 C
Al 1 o1 gt 1 & frae it
LGl T 11
Uh W b o a1 o L YA G o
Jehfeach HET (S 1a)
F, g &1 gwgrsi . o
AT T h & qTY CSIEEY))
RETL
F, it e fendt ot 1. s
ST % |1 HhTOT
ey H IO G2t IV.  adegomed
%l de el
(2 i)
I feu 1o fysedt & & @& STX @ g
(1) A-1V, B-III, C-I1, D-I
(2) A-1, B-II, C-III, D-IV
(3) A-II, B-1, C-III, D-1V
(4) A-II, B-1V, C-1, D-1I
[ Contd...



124

125

126

127

128

129

Identify the set of correct statements:

A. The flowers of Vallisneria are colourful and
produce nectar.

B. The flowers of waterlily are not pollinated
by water.

C. In most of water-pollinated species, the
pollen grains are protected from wetting.

D. Pollen grains of some hydrophytes are long
and ribbon like.

E. In some hydrophytes, the pollen grains are
carried passively inside water.

Choose the correct answer from the options given

below:

(1) B,C,DandE only

(2) C,DandE only

(3) A,B,CandD only

(4) A,C,DandE only

Inhibition of Succinic dehydrogenase enzyme by

malonate is a classical example of:

(1) Enzyme activation

(2) Cofactor inhibition

(3) Feedback inhibition

(4) Competitive inhibition

List of endangered species was released by-

(1) TUCN (2) GEAC

(3) WWF (49) FOAM

Given below are two statements:

Statement I : Bt toxins are insect group specific

and coded by a gene cry [Ac.

Statement II : Bt toxin exists as inactive

protoxin in B. thuringiensis. However, after

ingestion by the insect the inactive protoxin gets

converted into active form due to acidic pH of

the insect gut.

In the light of the above statements, choose the

correct answer from the options given below:

(1) Statement I is false but Statement Il is true

(2) Both Statement I and Statement II are true

(3) Both Statement I and Statement II are false

(4) Statement I is true but Statement Il is false

Lecithin, a small molecular weight organic

compound found in living tissues, is an example

of:

(1) Carbohydrates (2) Amino acids

(3) Phospholipids (4) Glycerides

Which of the following is an example of

actinomorphic flower?

(1) Sesbania (2) Datura

(3) Cassia (4) Pisum
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E HUAl & T2 BT GEATT:

A. dfrafar % 99 OiF & ¥ ok weis fafia
GRS

B. arexiae (Fagpge) & IoF T EIRT URIRT )
RS

C. SHfupisT STE—uRIRTd TS &, IRETeRT e &9
¥ gfa (I9) wa

D. B WeigiHal (FESIEEeH) & U @ &k
wid (Fem) S = ¥

E. %9 JqRval (ST3SIeEed) o, TIRTHTN &l Sid
% 37 & ik wu & @ S S 7

I faw o faeedt § @ 98 SO @ giTw:

(1) %a@ B,C,DaRE

(2) ®a@ C, D3R E

(3) @@ A,B,C3RD

(4) FawA,C,DRE

AAME S G SIe3gINTE TigH &l §gqT
T SHE ITEL |

(1) TwiEH feha

(2) BhHFRT (TEHRH) GIAT

(3) weS® HeHA

(4) il sgue

GBI (Tiewors) WM gl a1 it
R

(I) TUCN (2) GEAC
(3) WWF (4) FOAM
A 1 sy feu o @

o 1 : Bt anfay (o) e @ fafime & ¥ six
B! S cry [Ac BT geaiad (Brs) ferar s 51
o 11 : Bt anifaw (i) df—gifargfaa tiea
TS (AEIifer) & &9 § 91T 91 ¢ | gafy, s
B0 T fohT ST o 18 s Tiepfay (ereiter)
BT B ofid § orid pH & & HILor dfshd &9 o
gfafda & = ¥

SUgaT HUAT % STeld § A fag T fyeed § @ wh
T B g

(1) a1 38 & i ba 11 9 7|

(2) ®HU 1 3T a1l S T &

(3) U I 3T & 11 ST o1ac & |

(4) ®uT 19 T Al e 11 o/ |

ol Hasl § U™l AW ATl Uk 3 ST WK A

BT IR AT %1 Th IETEL & |
(1) wErEEse (2) UHET 3T
(3) wEmifats (4) feEss

Frrefafaa & & #F a1 Bt (teEmihs) 7o
%1 T SETEL & 7
(1) a@Efrar
3) T

(2) srgar
4) wrEET
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Tropical regions show greatest level of species

richness because

A. Tropical latitudes have remained relatively

undisturbed for millions of years, hence

more time was available for species

diversification.

Tropical environments are more seasonal.

More solar energy is available in tropics.

Constant environments promote niche

specialization.

E. Tropical environments are constant and
predictable.

Choose the correct answer from the options given

below:

(1) A,BandD only

(2) A,C,DandE only

(3) AandBonly

(4) A,BandE only

COw

Hind Il always cuts DNA molecules at a particular
point called recognition sequence and it consists
of:

(1) 10bp
(3) 6bp

(2) 8bp
(4) 4bp

Bulliform cells are responsible for

(1) Providing large spaces for storage of sugars.
(2) Inward curling of leaves in monocots.

(3) Protecting the plant from salt stress.

(4) Increased photosynthesis in monocots.

A transcription unit in DNA is defined primarily
by the three regions in DNA and these are with
respect to upstream and down stream end;

(1) Promotor, Structural gene, Terminator

(2) Repressor, Operator gene, Structural gene
(3) Structural gene, Transposons, Operator gene
(4) Inducer, Repressor, Structural gene

Which one of the following is not a criterion for
classification of fungi?

(1) Fruiting body

(2) Morphology of mycelium

(3) Mode of nutrition

(4) Mode of spore formation

In the given figure, which component has thin
outer walls and highly thickened inner walls?

(1) B
3) D
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SuhRieTdl &5 (ZITe) ITaad WX Bl ST gl
T Weiifd &id ¥, Fife

A.  SUTGHREYR SaTisT AT aul qdb STUEThT STagE
@ ¥, ora: wniq fafaediemtor & fau eife a9
EERE

B. gﬁ%ﬁa’&ﬁaWﬁmtﬁw/@

|

C. Swrmiese & & arfire G Sl Jueed el ¥

D. fRex wafazer fea fafinfieor &t serer 3t 21

E. Sumpfedd wafare Rex st RS

I faw o faeedt § 9 @€ 9K A gr@

(1) %aw@ A, BsiRD

() %b_clﬁA,C,Daﬁ'{E

(3) %ad AR B

(4) %aa@ A, BaRE

Hind 11 S1q7T et & 9ed Ueb F1aq faig wx drean
% R arfirer e (Ramite diedwa) ®ed &, 8iik
T B &

(1) 10bp (2) 8bp

(3) 6bp (4) 4bp

S HIRTHG (JAIBH do) ST Bl o
(1) 9ThraT & HSRUT & foT ST T Ua i

% o)

(2) @Sélﬁtr%m‘f ) % ufaEl & 31aT @l 31T
g & fo|

3) qﬁq?ﬁwaﬂﬁ%aﬂﬁ%ﬁm

4) Qiﬁmélﬂqﬁl@r ) ® aftfa yeprer dgaroor

AT (DNA) ¥ STAE (ZIafpeT) 3678 Bl urafie
w@réﬁw%fﬁ?aﬁsﬁmﬁm‘rﬁﬁﬁww%ﬁ
Y FLEAYATE! (STUELH) SR STevare (ST &) faxl

% g H/ame

(1) wHR=Y, GETEs o, @qs (i)

() G@T(W),W(W)Gﬁ?,m

(3) ETEATHS W, ZIAUTEN, FaTdd (SaEy) S
(4) =g (faua), dews (ROER), @aerd SiA

ﬁﬂ?ﬁgﬂﬁéaﬁﬂmmﬁ%a’ﬁaﬂwwwm
Tig?

(1) e HEn

(2) HABHITA (FTEHITIH) Dbl SATHI b

(3) T &y fafy

(4) Sy fmtor T qleRr

oo fo=r o, T Geres & vaeh ster fuft 8 e
Tyfera ey Pt s ¥ 7
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Botany : Section-B (Q. No. 136 to 150)

136

137

138

139

Sé

Match List I with List II
List I List IT
(Types of Stamens) (Example)
A. Monoadelphous 1.  Citrus
B. Diadelphous II. Pea
C. Polyadelphous II. Lily

D. Epiphyllous IV. China-rose
Choose the correct answer from the options given
below:
(1) A-IIL, B-I, C-IV, D-II
(2) A-1V, B-II, C-1, D-III
(3) A-IV, B-I, C-II, D-III
4) A-L B-II, C-1V, D-III

The DNA present in chloroplast is:
(1) Circular, single stranded

(2) Linear, double stranded

(3) Circular, double stranded

(4) Linear, single stranded

Read the following statements and choose the set
of correct statements:

In the members of Phaeophyceae,

A. Asexual reproduction occurs usually by
biflagellate zoospores.

Sexual reproduction is by oogamous method
only.

Stored food is in the form of carbohydrates
which is either mannitol or laminarin.

The major pigments found are chlorophyll
a, ¢ and carotenoids and xanthophyll.
Vegetative cells have a cellulosic wall,
usually covered on the outside by gelatinous
coating of algin.

Choose the correct answer from the options given
below:

(1) A,B,CandE only

(2) A,B,CandD only

(3) B,C,DandE only

(4) A,C,DandE only

Match List I with List IT
List I
Citric acid
cycle
Glycolysis

m o a0 w

List 1T

A. I.  Cytoplasm

II. Mitochondrial
matrix
Intermembrane
space of
mitochondria
Inner
mitochondrial
membrane
Choose the correct answer from the options given
below:

(1) A-IV, B-III, C-II, D-I

(2) A-L B-II, C-11I, D-1V

(3) A-IL B-I, C-1V, D-11I

(4) A-lI, B-1V, C-1, D-1I

Electron I11.
transport
system
Proton

gradient

IV.
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136 T [ o1 gl 11 & fram sifsa:
Tl

S Ow

137

138

139

A
B.
C

Tl
(41 & T&R) (SeTET™)
whaaHl (AAusesd) 1 faga
feadr (sEuswhy) II. 72X
Al (TS ehd) 11, feelr
sttt /afted @ V. =mEA1 TS/ g8
I faw o faeedt ¥ 9 w1 39X @ ghw:
(1) A-1II, B-L, C-1V, D-II
(2) A-1V, B-II, C-1, D-III
(3) A-1V, B-1, C-II, D-III
(4) A-l, B-II, C-1V, D-III
aeas (Fire) ¥ suiad DNA/ZTAT &:
(1) I, THats
(2) g, Es
(3) T, fatoys
(4) Mok, THATTH

frrafaiad ol i afey oiX @8l Boml & 9 & g
st@réwa@ﬁ
3T S UTa: faeheml SR (erifites =

FISTULe) % & B 8 |

B. fe 99 haa fawmgmen (Semime) fafy
BT

C. dfad @ ®EiERse & &9 ¥ &dr & o Aew
AT AHA B

D. T WM o g avie uieiia/aiined a,
31T BRIferATgs qar S-Aifthd 2|

E. e wifresrstt & Aqarer fafa gy &, <t et

I 3T UT: Tfewts o forafet swarer & safid
B &

I faw o faeedt ¥ 9 9 39X A ghw:

(1) ®a@ A,B,C3RE

(2) ®&aw A, B, C 3D

(3) ®aw@ B,C,DRE

(4) wawa A, C, D 3iRE

Al 1 o1 g 1 | freae st

T 1 T 11
. asfesm st CAIREAEE]
EGIECAIGIESE|
g SATTE
REJESEAREAL R E
e
T Jaoran

L.
II.
II.

IV.

A3 faw T et § & Wl o A 9P
(1) A-1V, B-IL, C-I1, D-I
(2) A-L, B-IL, C-III, D-IV
(3) A-IL B-L, C-1V, D-1II
(4) A-IIL B-1V, C-I, D-II
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140 Given below are two statements: 140 </ T ®ye fou U @
Statement I : In C; plants, some O, binds to FAl: C3q1—q—q3fﬁ" 38 O, B! (RuBisCO) & o
RuBisCO, hence CO, fixation is decreased. A I 2, ot CO, AfraTor &9 &1 S B
State@ent II:InC, Plar?ts, meSf)phyll cells show I C, et ¥, weiHes BIRET SEd B
very little photorespiration Yvhl.le bundle sheath SN, VI g AT
cells do not show photorespiration. i . L
In the light of the above statements, choose the ST SR T T 2
correct answer from the options given below: SR el & e H, fag e ferdedt # 4 W TR
(1) Statement I is false but Statement II is true ®l gi;
(2) Both Statement I and Statement II are true (1) ®I9 1 318 T wfeh ®a= 11 T & |
(3) Both Statement I and Statement II are false (2) ®UF 1 3 B 1 31 9 B |
(4) Statement I is true but Statement Il is false (3) ®uF 1 X &ue 11 T orae 2
_ . . (4) ®I9 19 T Wiep B 11 318 1
141 Which of the following statement is correct
regarding the process of replication in E.coli? 141w vhah T O
(1) The DNA dependent DNA polymerase )
catalyses polymerization in 5° — 3’ direction. frrefefers # & w1 a1 Fer W ® 7
(2) The DNA dependent DNA polymerase (1) S fx g i 57— 3° fom &
catalyses polymerization in one direction SEABIHT Pl ST BT ¢ |
that is 3°—> 5. (2) 3iuAg (DNA) MR SieAg g o faem §
(3) The DNA dependent RNA polymerase M 3° - 5° A TEABIH T Bl IANT HIT 2 |
catalyses polymerization in one direction, (3) Sumu MR e (RNA) O e faem
thatis 5”—3". F A 5 —> 3" & TR Y SAN BT B
4) Thel DNA (liepen.den.t DN? poéymeras]i (4) <rou fRk ST a5 —> 37 % qra-ar
catalyses polymerization in 5’ —3’ as we s s . o
as 3’}/—>5’F()1ir}e/ction. ;_)5 LURAL IR F
142 Match List I with List II
List I List TI 142 g Lo g 11 & frem it
A. Robert May I.  Species-Area Tl T I
relationship A. e H I. ST Tael
B. Alexander von II.  Longterm B. ufwest a . STSeER Wi &
Humboldt ecosystem T SUAT E1 SrEfaty
experiment using qifcRefes d
‘ out door ploﬁts e
C. Paul Ehrlich II. G.lobaF species ¢ om ok ML e siy Rrfema
diversity at about
7 million T 70
D. David Tilman IV. Rivet popper (7 W) 8
hypothesis D. zfus femm IV. fEe—umx
Choose the correct answer from the options given Rliczanl
below: e few U Tl # | /€ 99X @l g
(1) A-III, B-1V, C-II, D-I (1) A-III, B-1V, C-II, D-1
(2) A-IL B-III, C-1, D-IV (2) A-IL B-IIL, C-1, D-IV
(3) A-IL, B-I, C-1V, D-II (3) A-IIL, B-I, C-1V, D-I
(4) A-l, B-III, C-II, D-IV (4) A-L, B-III, C-II, D-IV
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143

144

145

Match List [ with List II

List I List IT

Frederick I.  Genetic code
Griffith

Francois Jacob II. Semi-conservative
& Jacque mode of DNA
Monod replication

Har Gobind III. Transformation
Khorana

Meselson & IV. Lac operon

Stahl

Choose the correct answer from the options given
below:

(1) A-1V, B-I, C-II, D-III

(2) A-II, B-II, C-I, D-IV

(3) A-IL B-1V, C-I, D-II

(4) A-IL B-IIL, C-1V, D-I

In an ecosystem if the Net Primary Productivity
(NPP) of first trophic level is

100x (kcal m™2 ) yr_1 , what would be the GPP

(Gross Primary Productivity) of the third
trophic level of the same ecosystem?

(1) 100x

(kcal m- )yr

-1

) % (kcal m_2) yr

3) x(kcal mﬁz) yr~1

(4) 10x (keal m™2) yr!

Match List I with List II

ListI List IT

Rose I.  Twisted aestivation
II.
111
IV.
Choose the correct answer from the options given

Pea
Cotton
Mango

Perigynous flower
Drupe
Marginal placentation

oSow»

below:

(1) A-II, B-IIIL, C-1V, D-I
(2) A-IL B-1V, C-1, D-III
(3) A-I, B-II, C-1II, D-IV
(4) A-1V, B-1II, C-II, D-I
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143

A.

o

144

145

Tl [ o1 gt 1 & e st
Tl Tl
weiia fiftey I gafite %

(St Bre)

Yepisq e Ud 1. SuAg yfagfaas
SERIRIS & eref—weal vsfa
B TMTSE @ 1. &
. 9@ U9 ®d IV. Wi

=h%r fau T faspeai @ W& 39T B AT

(1) A-1V, B-1, C-II, D-III

(2) A-III, B-II, C-1, D-IV

(3) A-IIL B-1V, C-I, D-II

(4) A-IL, B-IIL, C-1V, D-I

ferdll TiftRafaes o (Saitaeed) & afs gaw didl &)X

%1 2wt g (NPP) 100x (kcal m™2) wfyad
T a9 I8 uiftRafas o & gdrg 9 @ & GPP
(T Uttt IeTe) 9T BT ?

100x(k aim ) :

(M

(2)  Gkeal m™?) strrd

() x (kcal m_z) EIRCH

4)  10x (kcal m72) EIRCA]

T Lot ga 11§ fre shifsrg:

T 1 T 11

NGIES I =mEfid gwed fa=m
X 1. ufemartt go
HUE 1. ¥ wa/gd

D. &m IV. diq St
e few o fqsedt & @ & SO @ g
(1) A-IIL B-III, C-1V, D-I

(2) A-I, B-1V, C-1, D-IT

(3) A-L B-II, C-1II, D-IV

(4) A-1V, B-111, C-I1, D-I

o w >
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147

148

Identify the correct description about the given
figure:

4
(M
)
3)
4

Identify the step in tricarboxylic acid cycle, which
does not involve oxidation of substrate.

(1) Isocitrate - o -ketoglutaric acid

(2) Malic acid — Oxaloacetic acid

(3) Succinic acid — Malic acid

(4) Succinyl-CoA — Succinic acid

Spraying sugarcane crop with which of the
following plant growth regulators, increases the
length of stem, thus, increasing the yield?

(1) Abscisicacid (2) Auxin

(3) Gibberellin (4) Cytokinin

Compact inflorescence showing complete
autogamy.

Wind pollinated plant inflorescence showing
flowers with well exposed stamens.

Water pollinated flowers showing stamens
with mucilaginous covering.
Cleistogamous flowers showing autogamy.

149 Match List I with List II

150

o Qwp

List I List II

GLUT-4 I.  Hormone

Insulin II. Enzyme

Trypsin III. Intercellular
ground substance

Collagen IV. Enables glucose

transport into cells
Choose the correct answer from the options given
below:
(1) A-IIL B-1V, C-I, D-II
(2) A-1V, B-L, C-II, D-11I
(3) A-L B-II, C-lII, D-IV
(4) A-IL, B-IIL, C-1V, D-I

Which of the following are fused in somatic
hybridization involving two varieties of plants?
(1) Pollens

(2) Callus

(3) Somatic embryos

(4) Protoplasts
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146 feu U fu=r % =& faao & geaiiva:

147

148

M
)
3)
)

gl wWeRg (3T @i g gu ded
(i) goIshH

YogHTTad Yol &1 quifd 3T aTg UxIRTd urey
T G

U STTET o Yhadl I Q9T Y o7
TR

™
WHGA (SN B F9Md §Y AT
(FArE) g
ZIZHISITFAD TR °h b SH T bl U&aTT BIfg,
R opanemt/aeee &1 eI uT el 2T &:
(1) omzdEEeE —> o- T
(2) Ao o=t — SFAAITdICH Tt
(3) wi® e — Afew ot
(4) FFEFEA-CoA — Tl e

T &I GHA § Frfarad arew ghg st & o faam

g w A I & G918 56 Wl 8, Sah waaey

3ust 7 gig Bl & ?

(1) usataes st (2) iR

3) IEEEUSR (4) wEHEEE

149 g 1 o1 gt 1 & free it
@ 1 @ 11

A. GLUT-4 I  =smF

B. sgfem II. u=mEA

C. fefam II. ST
ISR R A D]

D. i IV. aifdteren &
% FNTHT & GG
RIS

ra fau T fysedt & & @ ST @l gh:

150

(1) A-IIL B-1V, C-I, D-II
(2) A-1V, B-1, C-II, D-III

(3) A-L B-II C-III, D-IV

(4) A-I1, B-IL, C-1V, D-I

qredl @ &1 fereat @t aftafad &1 X difie g §
frrefafaa & & fohTar g srar 5 7

(1) TR

(2) &ag

(3) it Yo

(4) HERE
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Zoology : Section-A (Q. No. 151 to 185) |

151 The flippers of the Penguins and Dolphins are

the example of the

(1) Divergent evolution

(2) Adaptive radiation

(3) Natural selection

(4) Convergent evolution

152 Match List I with List II :

List I List IT
Pleurobrachia I.  Mollusca
Radula II.  Ctenophora
Stomochord III. Osteichthyes
Air bladder IV. Hemichordata

153

154

155

S6 Hindi+English ]
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Choose the correct answer from the options given
below :

(1) A-1V, B-III, C-1I, D-1

(2) A-1V, B-II, C-11I, D-1

(3) A-IL B-I, C-1V, D-III

4) A-IL B-1V, C-1, D-III

Which of the following is not a component of
Fallopian tube?
(1) Ampulla
(3) Isthmus

(2) Uterine fundus
(4) Infundibulum

Following are the stages of pathway for
conduction of an action potential through the
heart:

A. AV bundle
C. AV node
E.  SAnode
Choose the correct sequence of pathway from the
options given below :
(1) E-A-D-B-C

(3) A-E-C-B-D

B. Purkinje fibres
D. Bundle branches

(2) E-C-A-D-B
(4) B-D-E-C-A

Given below are two statements :

Statement I : The presence or absence of hymen
is not a reliable indicator of virginity.
Statement II : The hymen is torn during the first
coitus only.

In the light of the above statements, choose the
correct answer from the options given below :
(1) Statement I is false but Statement Il is true
(2) Both Statement I and Statement II are true
(3) Both Statement I and Statement II are false
(4) Statement I is true but Statement Il is false

35

151 dfte ofix sifew & frdud Sareeor #

(1) eroEry faer @t
(2) orgge fafe &

(3) Tl T @
(4) erfgardy faem &

152 & I &t gt 11 & |y gafad s

153

154

155

oow >

1

. WISEeIT L.
TferEn I 3FmR
[SARIEIE . enfeais
g B IV. &aEa
1 faseal & 921 SAX &1 999 B
(1) A-IV, B-II, C-II, D-I

(2) A-1V, B-II, C-III, D-I

(3) A-IL B-I, C-1V, D-III

(4) A-IIL B-1V, C-I, D-III

T 11
HYETEhT

=1 & B Bl Tl & Staad e & 7
(1) gfea (2) Wi HeE
(3) wehumTy (4) ®uH

&g ¥ fepan fava & dagw & Ant &l 1 eremad &
A. TdrEsA B. gxféhsi dg

C. udiud D. d=d 9@

E. uwauug

e fasedt o & ARt % T2 fased &1 a9 &
(1) E-A-D-B-C  (2) E-C-A-D-B

(3) A-EC-B-D  (4) B-D-EC-A

T &1 s fou o ¥

w1 : Aifeeg & IuRafa a1 sruRafd s &
fayaaia gas & 31

o 11 : AT bad Tgd ST % QI & el &
YT f&U U BT % Weh1eT H e fqu T faehedt 9w
ITX BT TIT HU:

(1) &7 | o & WAfep %o 119 71

(2) <A B SR BaT 11 9 B |

(3) < HA I 3R B 11 318

(4) %uT | T ¢ AlhT %o 11 o7 51
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ocow»

oow »

A. Lipase
B. Nuclease
C. Protease

Match List [ with List II :
List I

a-1 antitrypsin
Cry IAb

Cry IAc
Enzyme
replacement
therapy
Choose the correct answer from the options given
below :

(1) A-IL B-1V, C-1, D-1II

(2) A-IL B-L, C-1V, D-III

(3) A-II, B-1, C-1I, D-IV

(4) A-IL B-1V, C-1, D-II

Given below are two statements : one is labelled

as Assertion A and the other is labelled as

Reason R :

Assertion A : FSH acts upon ovarian follicles in

female and Leydig cells in male.

Reason R : Growing ovarian follicles secrete

estrogen in female while interstitial cells secrete

androgen in male human being.

In the light of the above statements, choose the

correct answer from the options given below :

(1) A s false but R is true

(2) Both A and R are true and R is the correct
explanation of A.

(3) Both A and R are true but R is NOT the
correct explanation of A.

(4) A istrue but R is false

Match List [ with List II :

List I List IT

Cocaine Effective sedative in

surgery

Cannabis sativa

Morphine L.  Erythroxylum

Marijuana IV. Papaver somnlferum

Choose the correct answer from the options given

below :

(1) A-II, B-1V, C-I, D-II

(2) A-1V, B-IIL C-I, D-II

(3) A-L B-III, C-1I, D-IV

4) A-IlL, B-L, C-lII, D-IV

Match List I with List II :
ListI ListII
Peptide bond
Ester bond
[II.  Glycosidic bond
D. Amylase IV.  Phosphodiester bond
Choose the correct answer from the options given
below :
(1) A-IV, B-I, C-III, D-II
(2) A-1V, B-IL, C-III, D-I
(3) A-II, B-II, C-I, D-IV
4) A-IIL B-1V, C-1, D-III

List IT

Cotton bollworm
ADA deficiency
Emphysema
Corn borer

L.
II.
II.
IV.

L.

Heroin II.

L.
II.
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oO0wp

Tl [ ot g 11 & a1 gafiad si—

T 1 T 11

-1 gifefas I.  &UE Sy
@ [T . Tud N
B [T d II. araesifa
ToTsH wiereamas IV. Heahl B
Tafepen
1 Tasbeal & 981 AT &1 99 B

(1) A-II, B-1V, C-1, D-1II

(2) A-I, B-1, C-1V, D-1IT

(3) A-II, B-I, C-II, D-1V

(4) A-II, B-1V, C-1, D-lI

I 31 HeF o T 2 s fvewe A 99T gE

FRTR %)

AfRU A : THUETT AIET H 7190 gl ofit I

TS BIfyTeBTT U B HIAT 2 |

FT R : AT ¥ gig wid gU TSI Y2 TR

HITId B & STd(eh I < § SIS BIIITHIY UG Io

Hiferd BTl & |

U fau U AT % yebieT ® g o T fawedt | |Et

I BT TAT BAU:

(1) A 319 & AfhT R & 1

(2) IFARREAE TR, A w1 TE W |

(3) @M A3 R T & @fb R, A &1 &l Wb
T F

(4) AT E dfpT R & ¥

Tl [ ot g 11 & a1 gafad sa—
T T 1
BIhT I orcafeean & grd sTH
EXE] 1. &fyq dergar
ATk . oQRerosad
Afegar IV. 9997 ar=1%

e faspeal & @21 ST &1 999 HA:

(1) A-II, B-1V, C-1I, D-lI

(2) A-1V, B-III, C-I, D-II

(3) A-L B-III, C-II, D-IV

(4) A-11, B-L, C-111, D-IV

T 1 1 gl 11 & a1 gAfead si—
T 1 T 11
KIS [ UeEs sy
RIS II. uesy
Hifeust . TaEHEEss 59
IR V. ®EREEIRT aY

ﬁﬁr faeredi & TE ST BT TUT B

(1) A-1V, B-I, C-III, D-II

(2) A-1V, B-11, C-IIL, D-I

(3) A-II, B-II, C-I, D-IV

4) A-1L, B-1V, C-I, D-III
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160 Three types of muscles are given as a, b and c.
Identify the correct matching pair along with their
location in human body :

€))
Name of muscle/location

(b)

1 (@
(b)
(c)
(a)
(b)
(c)
(a)
(b)
(c)
(a)
(b)
(c)

)

3)

4

T ©

161 Match List I with List IT :

List I
Pterophyllum
Myxine
Pristis
Exocoetus

oOwp

L.
II.
II.
IV.

Involuntary - Nose tip
Skeletal - Bone
Cardiac - Heart.
Smooth - Toes
Skeletal - Legs
Cardiac - Heart.
Skeletal - Triceps
Smooth - Stomach
Cardiac - Heart.
Skeletal - Biceps
Involuntary - Intestine
Smooth - Heart.

List IT
Hag fish
Saw fish
Angel fish
Flying fish

Choose the correct answer from the options given

below :
(D
(2)
3)
“4)

A-II1, B-II, C-1, D-IV
A-I1, B-1, C-11I, D-IV
A-I11, B-1, C-II, D-IV
A-1V, B-I, C-II, D-III

162 Match List I with List IT :

List I
A. Fibrous joints

B. Cartilaginous
joints

Hinge
joints

D. Ball and
socket joints

L.

II.

II.

IV.

List IT
Adjacent
vertebrae, limited
movement
Humerus and
Pectoral girdle,
rotational
movement
Skull, don’t
allow any
movement
Knee, help in
locomotion

Choose the correct answer from the options given

below :

(1) A-IIL B-I, C-IV, D-II
(2) A-IV, B-II, C-III, D-I
(3) A-L B-IIL, C-II, D-IV
(4) A-IL B-III, C-1, D-IV

S6 Hindi+English ]

37

160

161

162

A.

B.

oSOwp>

a,bTd c % BT H W JHR & Ul &1 715 ¥ | gufaa
gH

et &1 W / Rafa

(1) (a) sMfw® — - &1
(b) FETEE — sy
() &w—&d

(a) et — ureife
(b) Ha&EE — (T

() &W-&d

(a) e — By
(b) e+t — ammeg
() Tm-&d

(a) waE — fEfre
(b) emifes® — ot
(c) Tl -z

Tl [ 7 T 11 & |1 gafed &i-

T 1 T 11
. e I Ffeyr
Rrerars I 3R Jsal
Hifiea 1. 9« 98at
. IR IV. 39 98
1 Tasbeal € T&1 AT & 999 B
(1) A-IIL B-IL, C-1, D-IV
(2) A, B-1, C-III, D-IV
(3) A-I, B-1, C-II, D-IV
(4) A-1V, B-1, C-II, D-III

)

)

4

Tt [ &1 gl 11 & a1 gafad sa—
T Tl
Yo gt [. feheadl wres,
iftr it
SR gar 1. &9 E 3|
e Gierr II. 9T, &g TTid
&l Trar
Hgh WleeThl IV. g, g §
Gt FETIdT BT &
o1 forehedt & TE1 ST &1 99 &
(1) A-II, B-1, C-IV, D-lI
(2) A-1V, B-11, C-IIL, D-I
(3) A-l, B-IL, C-II, D-IV

(4) A-IL B-IIL, C-1, D-IV
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163 Following are the stages of cell division :

164

A. Gap 2 phase

C. Synthesis phase
E. Gap 1 phase
Choose the correct sequence of stages from the
options given below :

(1) E-C-A-D-B (2) C-E-D-A-B

(3) E-B-D-A-C (4) B-D-E-A-C

The “Ti plasmid” of Agrobacterium tumefaciens
stands for

(1) Temperature independent plasmid

(2) Tumour inhibiting plasmid

(3) Tumor independent plasmid

(4) Tumor inducing plasmid

B. Cytokinesis
D. Karyokinesis

165 Match List I with List II :

A.

List I
Pons

List IT

Provides additional
space for Neurons,
regulates posture
and balance.
Controls
respiration and
gastric secretions.
Connects different
regions of the
brain.

Neuro secretory
cells

Choose the correct answer from the options given
below :

(1) A-II, B-L, C-1II, D-IV

(2) A-IL B-III, C-1, D-IV

(3) A-II, B-1V, C-I1, D-I

(4) A-l, B-III, C-II, D-1V

L.

Hypothalamus 1.

Medulla I11.

Cerebellum IV.

166 Match List I with List IT :

167

o0 wp

List I List IT

Axoneme I.  Centriole
Cartwheel II. Cilia and flagella
pattern

Crista [II. Chromosome
Satellite IV. Mitochondria

Choose the correct answer from the options given
below :

(1) A-IIL, B-I, C-1V, D-II

(2) A-1V, B-III, C-1I, D-1

(3) A-1V, B-II, C-11I, D-1

4) A-IL B-1V, C-1, D-II

Consider the following statements :

A. Annelids are true coelomates

B. Poriferans are pseudocoelomates

C. Aschelminthes are acoelomates

D. Platyhelminthes are pseudocoelomates
Choose the correct answer from the options given
below :

(1) Donly
(3) Aonly

(2) Bonly
(4) Conly
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163 =T wifdTehT fauTeT &Y Srawemd &1 T8 &

164

B. wifdmhEed faume
D. s faume

A. 92 grawn
C. Tyl Yraeen
E. 991 grazen
= faepedl & O Srarenati & 92T BH B TgT B

(1) E-C-A-D-B (2) C-E-D-A-B
(3) E-B-D-A-C  (4) B-D-E-A-C
g T ST % Ti @iteds &1 &7 §

(1) oA @S WS
(2) =R MR«
(3) =TI @A WIS
(4) =TI IS WS

165 T [ &t gt 1 % &rer gAferd si—

166 & 1 %1 gt 11 % wna gafed &
?fﬁ

167

A. U

B.

C.

D.

o0

I

L.

REIPEEL
EEeull

II.

II.

AR IV. e B
e faedt @ 981 IR @1 999 B
(1) A-IL B-I, C-III, D-IV
(2) A-I, B-III, C-1, D-IV
(3) A-IIL B-1V, C-II, D-I
(4) A-IL B-III, C-II, D-IV

T 11
[ d& &=
éwné’r%q%q Il 9eATy Ud BT
Y Yo
fopeer 1. o
L& LA | A IV. gIhvTeET
ﬁwﬁwﬁ%aﬁwwmwﬁ

(1) A-IL, B-1, C-IV, D-1II
(2) A-1V, B-IIL, C-II, D-I
(3) A-1V, B-IL, C-III, D-1
(4) A-IL, B-1V, C-1, D-III

=1 ol O faam &

A. wifds o EE Ea ¥
B. UR%U %2 TEM B ¥

C. Uwhamide B ¥

D. wieisfeiedist g e 81 &
e fasedt ® @ 921 AR @1 999 BA:
(1) ®aaD (2) %ada B
(3) ®aw@ A (4) ®aw C
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168 Which of the following is not a steroid hormone?

169

170

171

SO

A

(1) Glucagon (2) Cortisol
(3) Testosterone (4) Progesterone

Given below are two statements :

Statement I : In the nephron, the descending limb
of loop of Henle is impermeable to water and
permeable to electrolytes.

Statement II : The proximal convoluted tubule
is lined by simple columnar brush border
epithelium and increases the surface area for
reabsorption.

In the light of the above statements, choose the
correct answer from the options given below :
(1) Statement I is false but Statement Il is true
(2) Both Statement I and Statement II are true
(3) Both Statement I and Statement II are false
(4) Statement I is true but Statement II is false

Match List I with List II :
List I List IT
Common cold L Plasmodium
Haemozoin II.  Typhoid
Widal test III. Rhinoviruses
Allergy IV.  Dust mites

Choose the correct answer from the options given
below :

(1) A-1V, B-II, C-11I, D-1

(2) A-IL B-1V, C-11I, D-1

(3) A-L B-1II, C-1I, D-IV

(4) A-lL, B-I, C-II, D-1V

Match List [ with List II :
List I List IT
. Expiratory I.  Expiratory reserve
capacity volume + Tidal
volume +
Inspiratory reserve
volume
Functional II.  Tidal volume +
residual Expiratory reserve
capacity volume

Vital capacity III. Tidal volume +
Inspiratory reserve
volume

Inspiratory IV. Expiratory reserve

capacity volume + Residual
volume

Choose the correct answer from the options given
below :

(1) A-L B-1II, C-1I, D-IV

(2) A-IL B-1V, C-I, D-lII

(3) A-II, B-1I, C-1V, D-1

(4) A-IL B-L, C-1V, D-lII
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168 =1 ¥ &9 ©iRigs g™ &l & 7
(1) TeebrT= (2) HeEE
(3) WA (4) R

169 ' a1 e fyw o :
Fo | JoRR1Y] H ST W I STANE! ST oI o foIg
AT & 3R faga—sraeea & fog urom 1
o 11 : e Hatad Tden! 9 THTH g9 ST
SUHAT A S Bl & N GGy & fAQ das &=
@I TETd 2 |
IU fqU 7T B % FepreT H 1 faepedl & @a1 A
BT IT B
(1) a1 38 & i b 11 9 2|
(2) B MR Hoa 11 T &
(3) @ Hu I X %o 11 oree |
(4) ®uF 19 T AfhT B 11 o7 2 |

170 & [ &t gt 1 % @rer gafead s

T 1 T 11
A. EE JEH . w=IsTE
B. #meied II. <EwEs
C. frem e Il TEemEE
D. Uit IV. g« fa=st
e forehedt & T ST &1 99 B

(1) A-1V, B-I, C-1II, D-I
(2) A-IL, B-1V, C-1II, D-I
(3) A-L B-IL C-II, D-IV
(4) A-IIL B-I, C-II, D-IV

171 o 1ot g 11 & | gafad &3

@1 T 11
A. FyEes aan I fryoes gefa
A + ST
A + 9@
i smaad
B. fransha srafyre II. <ari" emgad +
AL 1 yorw gRfeara
DG
C. W& &war . <arig emaa+ +
3 sT| gRtaa
SIPLE]
D. ofq:yaa gHal V. f:yaas gifea
A + Srafite
CIBLE]
1 faseal & 921 AX &1 999 &

(1) A-L, B-III, C-II, D-IV
(2) A-IL, B-1V, C-I, D-1II
(3) A-IIL B-IL, C-1V, D-I
(4) A-IL, B-1, C-1V, D-11I
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173

174

175

A. Typhoid
B. Leishmaniasis
C. Ringworm

Match List I with List II :
List I List IT
(Sub Phases of (Specific
Prophase I) characters)
A. Diakinesis I.  Synaptonemal
complex formation
Pachytene II. Completion of
terminalisation of
chiasmata
C. Zygotene III. Chromosomes
look like thin
threads
D. Leptotene IV. Appearance of
recombination
nodules

Choose the correct answer from the options given
below :

(1) A-1V, B-III, C-1I, D-1

(2) A-1V, B-II, C-11I, D-1

(3) A-I, B-II, C-1V, D-III

(4) A-IL B-1V, C-1, D-III

Given below are two statements : one is labelled

as Assertion A and the other is labelled as

Reason R :

Assertion A : Breast-feeding during initial period

of infant growth is recommended by doctors for

bringing a healthy baby.

Reason R : Colostrum contains several antibodies

absolutely essential to develop resistance for the

new born baby.

In the light of the above statements, choose the

most appropriate answer from the options given

below :

(1) A isnot correct but R is correct.

(2) Both A and R are correct and R is the correct
explanation of A.

(3) Both A and R are correct but R is NOT the
correct explanation of A.

(4) A iscorrect but R is not correct.

Which one of the following factors will not affect

the Hardy-Weinberg equilibrium?

(1) Constant gene pool

(2) Genetic recombination

(3) Genetic drift

(4) Gene migration

Match List I with List II :
List I List IT
Fungus
Nematode
[II. Protozoa
D. Filariasis IV. Bacteria
Choose the correct answer from the options given
below :
(1) A-IL B-1V, C-III, D-I
(2) A-L B-IL C-II, D-IV
(3) A-1V, B-IL C-1, D-1I
(4) A-III, B-1, C-1V, D-1I

L.
II.
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%ﬁﬁlaﬁq\%ﬁll%ﬁwagﬁﬁﬁaﬁf
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I Tt atas
&1 fomtor
PHITH B
ERIGIECE R URIE|
NAER G N RGK]
e ¥

M.

fes <t €
1 el & 981 AT &1 999 &
(1) A-1V, B-III, C-1, D-I
(2) A-1V, B-II, C-II1, D-I
(3) A-L, B-IL C-1V, D-III
(4) A-I1, B-1V, C-1, D-III

e 3 HeF I ™ ¥ T us s A ofiR g|a

FRTR ¥

e A : gl & @ faerd & foaq saal gfg &

ATHS B 9 $B T T Sidel 1] Bl &I

HT B T8 3d ¢ |

FRO R : BIAH § 63 YbR & Ui e & o

Faeta farg] # Wil &war SO BT 6 @Y I

3ME9T% &

IuX feu U Al & garet ® A iU U fawedt @

TIH T AL B T9T BAU:

(1) A7ed & @feed R @1 7

(2) IAMANRRTE T SR, A H T WEHT R |

(3) @AY A 3T R @& ¥ WfthT R, A &1 €&l WEBT
T F

(4) A& % Al R T 2

1 o B9 &1 g TR I9et arar Bl gHIfad e

HET?

(1) R i qw

(2)  ageifirh gt

(3)  mgdfare feraer

(4) <F yarE

Tl 1 1 gl 11 & a1 gAfad si—

T 1 T I
TABIES Hab
RINCIEREI . oo
e Il wremsien
LR EES] IV. Siamg
ﬁn:f ferepedi  TE ST BT TIT B
(1) A-IL B-1V, C-111, D-I

(2) A-L B-III, C-II, D-1V

(3) A-l1V, B-III, C-I, D-1I

(4) A-I, B-1, C-1V, D-lI

II.
II.

V.

L.
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Given below are some stages of human evolution.
Arrange them in correct sequence. (Past to
Recent)

A. Homo habilis

B. Homo sapiens

C. Homo neanderthalensis

D. Homo erectus

Choose the correct sequence of human evolution
from the options given below :

(1) A-D-C-B (2) D-A-C-B

(3) B-A-D-C (4) C-B-D-A

The following diagram showing restriction sites

in E.coli cloning vector pPBR322. Find the role of
‘X’ and ‘Y’ genes :

EcoR Im\gla % Hind III

(1) Gene ‘X is responsible for recognition sites
and ‘Y’ is responsible for antibiotic
resistance.

The gene X" is responsible for resistance to
antibiotics and ‘Y’ for protein involved in
the replication of Plasmid.

The gene ‘X’ is responsible for controlling
the copy number of the linked DNA and ‘Y’
for protein involved in the replication of
Plasmid.

The gene ‘X’ is for protein involved in
replication of Plasmid and ‘Y” for resistance
to antibiotics.

)

3)

4

Which of the following factors are favourable for
the formation of oxyhaemoglobin in alveoli?
(1) Low pCO, and High temperature

(2) High pO, and High pCO,

(3) High pO, and Lesser H* concentration

(4) Low pCO, and High H" concentration

In both sexes of cockroach, a pair of jointed
filamentous structures called anal cerci are present
on:

(1) 11th segment
(3) 10t segment

(2) 5% segment
(4) 8t and 9th segment
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e AT T ol $ sTawd < 1 ¥ | 39 (YA 9

T4H) % TE HH A Faikad &

A. g dfyaa

B. &t dfiga

C. &l fastdaefya

D. &M siaeg

e forehedt & AT faere & T2 % &1 T B
(1) A-D-C-B (2) D-A-C-B

(3) B-A-D-C (4) C-B-D-A

ra faw U st A & slarg FitT ares pBR322
% Yiqeed Wa g9 T E X T Y S @l e
T I TS

EcoR I—-Cla [ Hind I
. ,r
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)

3)

)

et # £ & A I 9 Tea ST smraitad S
o fHQ s 2 ?

(1) &" pCO, Ud I ATIhH

(2) s= pO, ud = pCO,

(3) =@ pO, uega &7 H' diza

(4) &9 pCO, wd v=a H' |igdl

7= T T wed ¥, Sufterd B &

(1) 11¥Esw Q) S¥Esm
(3) 1@ | (4) 8¥ iR 9F T ™
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180 Match List I with List IT :

List I List IT
A. Down’ssyndrome L. 11t chromosome
B. «-Thalassemia II. X’ chromosome
C. B-Thalassemia II. 215t chromosome
D. Klinefelter’s IV. 16t chromosome
syndrome
Choose the correct answer from the options given
below :

(1) A-IV, B-I, C-II, D-III
(2) A-L B-II, C-1IL, D-IV
(3) A-IL B-IL, C-1V, D-I
(4) A-IIL B-1V, C-I, D-II

181 Which of the following is not a natural/traditional
contraceptive method?
(1) Vaults
(2) Coitus interruptus
(3) Periodic abstinence
(4) Lactational amenorrhea

182 Which of the following are Autoimmune disorders?
A. Myasthenia gravis
B. Rheumatoid arthritis
C. Gout
D. Muscular dystrophy
E. Systemic Lupus Erythematosus (SLE)
Choose the most appropriate answer from the
options given below :
(1) C,D&Eonly (2) A,B&Donly
3) A, B&Eonly (4) B,C&Eonly

183 Which of the following statements is incorrect?

(1) Bio-reactors have an agitator system,
an oxygen delivery system and foam control
system.

(2) A bio-reactor provides optimal growth
conditions for achieving the desired product.

(3) Most commonly used bio-reactors are of
stirring type.

(4) Bio-reactors are used to produce small scale
bacterial cultures.

184 Match List I with List II :
List I List II

A. Non-medicated IUD I.  Multiload 375

B. Copperreleasing IUD  II.  Progestogens

C. Hormone releasing [UD 1II. Lippes loop

D. Implants IV. LNG-20
Choose the correct answer from the options given
below :

(1) A-IIL, B-I, C-1V, D-II
(2) A-IIL B-I, C-II, D-IV
(3) A-l, B-III, C-1V, D-II
(4)  A-IV, B-1, C-II, D-III

185 Which one is the correct product of DNA
dependent RNA polymerase to the given template?
3’TACATGGCAAATATCCATTCAS’

(1) S’ATGTACCGTTTATAGGTAAGT3’

(2) S’AUGUACCGUUUAUAGGUAAGU3’
(3) SSAUGUAAAGUUUAUAGGUAAGU3’
(4) S’AUGUACCGUUUAUAGGGAAGU3’
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181

182

183

184

185

Tt [ ot g4l 11 % @ gAfead -

Tl T I
A. e figm L 1lai o
B. oSt I X oA
C. B-difirn 11 219t o

D. FgThee g IV. 16at Torgs

e forehedt & T ST &1 99 B

(1) A-1V, B-I, C-II, D-III

(2) A-1, B-II, C-III, D-1V

(3) A-II, B-III, C-1V, D-1

4) A-II B-1V, C-1, D-lI

E}gﬁaﬁﬁﬁrwﬁwﬂm Y faty
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(1) %ad C,DRE (2) Fad A, BsirD

(3) %aw A,B3iRE (4) ®aw B,CaRE
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% fou Sua A w2
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LR
sifeRfea smsgst I. #c@rs 375
qreT Hiaw® SMEgs! II. YerEse
THIA Hiadh A 1. foda g
Ay IV. Tausii-20
e feebed & w1 eI 1 A -
(1) A-III, B-1, C-IV, D-lI
(2) A-IIL B-L C-II, D-IV
(3) A-L B-IIL C-1V, D-II
4) A-1V, B-I, C-I1, D-1II

faq 3 Tweie & forg Sag R eTReAg widmt @t
TG T B 7
3’ TACATGGCAAATATCCATTCAS’

(1) >’ ATGTACCGTTTATAGGTAAGT3’

(2) S>AUGUACCGUUUAUAGGUAAGU3’

(3) S>AUGUAAAGUUUAUAGGUAAGU3’

(4) S>AUGUACCGUUUAUAGGGAAGU3’
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Zoology : Section-B (Q. No. 186 to 200)

186

187

188

Given below are two statements :

Statement I : The cerebral hemispheres are

connected by nerve tract known as corpus

callosum.

Statement II : The brain stem consists of the

medulla oblongata, pons and cerebrum.

In the light of the above statements, choose the

most appropriate answer from the options given

below :

(1) Statement I is incorrect but Statement II is
correct.

(2) Both StatementIand Statement Il are correct.

(3) Both Statement I and Statement II are
incorrect.

(4) Statement I is correct but Statement II is

incorrect.

Given below are two statements :

Statement I : Gause’s competitive exclusion
principle states that two closely related species
competing for different resources cannot exist
indefinitely.

Statement II : According to Gause’s principle,
during competition, the inferior will be eliminated.
This may be true if resources are limiting.

In the light of the above statements, choose the
correct answer from the options given below :
(1) Statement I is false but Statement Il is true.
(2) Both Statement I and Statement Il are true.
(3) Both Statement I and Statement II are false.
(4) Statement I is true but Statement II is false.

Identify the correct option (A), (B), (C), (D) with
respect to spermatogenesis.

GnRH
[ | I
LH (A)
{ 1
®) ©
\ {
Androgens Factors
\ \
Formation of spermatids (D)
(1) ICSH, Leydig cells, Sertoli cells,
spermatogenesis.
(2) FSH, Leydig cells, Sertoli cells,
spermiogenesis
(3) ICSH, Interstitial cells, Leydig cells,
spermiogenesis.
(4) FSH, Sertoli cells, Leydig cells,
spermatogenesis.
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A.

B.

C o w »

The following are the statements about non-
chordates :

A. Pharynx is perforated by gill slits.

B. Notochord is absent.

C. Central nervous system is dorsal.

D. Heart is dorsal if present.

E. Post anal tail is absent.

Choose the most appropriate answer from the
options given below :

(1) B,C&Donly (2) A&Conly

3) A,B&Donly (4) B,D&Eonly

Match List [ with List I :

List I List IT
Unicellular glandular 1. Salivary glands
epithelium

Compound epithelium II. Pancreas

III. Goblet cells of

alimentary canal

Multicellular
glandular epithelium
Endocrine glandular Moist surface of
epithelium buccal cavity
Choose the correct answer from the options given
below :

(1) A-IIL, B-I, C-1V, D-III

(2) A-IlL, B-L, C-lII, D-IV

(3) A-IV, B-IIL, C-I, D-II

(4) A-IIL B-1V, C-1, D-II

Iv.

Match List I with List II :

ListI List II

P wave I.  Heart muscles are
electrically silent.

QRS complex II. Depolarisation of
ventricles.

T wave II. Depolarisation of
atria.

T-P gap IV. Repolarisation of
ventricles.

Choose the correct answer from the options given
below :

(1) A-1V, B-1, C-1, D-lII

(2) A-L B-II, C-1V, D-1I

(3) A-II, B-II, C-1V, D-1

(4) A-IL B-IIL C-I, D-1V

Match List [ with List II :
List I List IT
Exophthalmic I.  Excess secretion of
goiter cortisol, moon face &
hyperglycemia
Acromegaly II.  Hypo-secretion
of thyroid hormone
and stunted growth.
Cushing’s III.  Hyper secretion
syndrome of thyroid hormone &
protruding eye balls.
Cretinism IV. Excessive secretion

of growth hormone.
Choose the correct answer from the options given
below :
(1) A-II, B-1V, C-I, D-II
(2) A-L B-IL C-II, D-IV
(3) A-1V, B-II, C-1, D-III
(4) A-IIL B-1V, C-1I, D-1
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ﬁﬂﬁﬁﬁ%ﬂﬂ%ﬂé‘rwwwaﬁﬁ

(1) ®a@ B, C3iRXD (2) %ad AR C
(3) %ad A, BaRD (4) %aw B, D3RE

mo0w>

190 o [ &t gt 1 % @rer gafed s

T T

A. TEHHIHE A I @t
ERCII

B. €Y Ium II. e

C. TgalmE 1. SR 1A @l
Tt Saear HAL BIITHIT

D. Sfq:&mEl Ufd susar V. @ T[T &l 79 e

e faepeal & |21 ST 1 99 B

(1) A-IL B-I, C-1V, D-III
(2) A-IL, B-l, C-1II, D-IV
(3) A-1V, B-III, C-I, D-II
(4) A-IIL B-1V, C-I, D-II

191 @%ﬁaﬁx@ll%ma%ﬁ—

Tl
A. Pa@n . &g Uit fagaa
9T BIall &
B. QRS aftag 1. et & fagao
C. Tam 1. snfear & fageaon
D. T-Piy IV. {1 g:germ
e fasedl @ 921 ST &1 999 HU:

(1) A-IV, B-II, C-1, D-TII
(2) A-L B-IIL C-IV, D-II
(3) A-IIL B-II, C-1V, D-I
(4) A-IL B-IIL, C-1, D-IV

192 ot [ &t gt 1 % @rer gafad s

T Tl
A. TEdle [.  ISEI & STATH
TS TSt el
B. arfaemmEar II. Ess SHH & e
v T 3165 IS
C. i fagm I 41ERigs TMA &1 31
TIIUT T I Y
SERIGE)
D. saman IV. gfhg g™ &1
ST T
e foehedt & TE1 ST &1 99 B
(1) A-II, B-1V, C-1, D-lI
(2) A-L B-III, C-II, D-1V
(3) A-1V, B-IL, C-I, D-III

4) AL B-1V, C-II, D-I
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193 Match List I with List IT :

194

195

oSO

List I List IT

Mesozoic Era I.  Lower invertebrates
Proterozoic Era II. Fish & Amphibia
Cenozoic Era 1. Birds & Reptiles
Paleozoic Era IV. Mammals

Choose the correct answer from the options given
below :

(1) A-III, B-1, C-1V, D-II

(2) A-IL B-L, C-1II, D-1V

(3) A-II, B-1, C-1I, D-IV

4) A-L B-II, C-1V, D-III

Match List I with List Il related to digestive system
of cockroach.

List I List IT
The structures used [.  Gizzard
for storing of food.

Ring of 6-8 blind II.  Gastric
tubules at junction of Caeca
foregut and midgut.

Ring of 100-150 yellow  IIl. Malpighian
coloured thin tubules
filaments at junction of

midgut and hindgut.

The structures used IV. Crop

for grinding the food.
Choose the correct answer from the options given
below :
(1) A-III, B-II, C-1V, D-1
(2) A-1V, B-1, C-IL, D-1
(3) A-L, B-II, C-1II, D-1V
(4) A-1V, B-IL, C-I1, D-1

Given below are two statements :

Statement I : Bone marrow is the main lymphoid
organ where all blood cells including lymphocytes
are produced.

Statement II : Both bone marrow and thymus
provide micro environments for the development
and maturation of T-lymphocytes.

Inthelight ofthe above statements, choose the most
appropriate answer from the options given below :
(1) Statement I is incorrect but Statement II is
correct.

Both Statement [ and Statement Il are correct.
Both Statement I and Statement II are
incorrect.

Statement I is correct but Statement II is
incorrect.

)
3)

4
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193 ot [ &t gdt 1 & @rer gafad s
@1 @ 11
Heioiigsd 7ethed L
FIeISIIgh HETheT
SIS TeThed
. UfwISiigs Hethe

SO0 w >

(M
)
3)
)

A-II1, B-1, C-1V, D-II
A-11, B-I, C-111, D-IV
A-III, B-1, C-II, D-1V
A-1, B-II, C-1V, D-1II

194
Al B

T

Ao "@afed e & fog SuaeT

3T T FTATE | |

ST 9 HEAT &% Giad X

6-8 3ier AfeTenTatl &1 Iad

AT F YA &b W uX

100-150 9t 1 % gae agasit

HT g

Ao &l Gres & fg

EERIRIRSECEI LY

1 faseal & 921 IAX &1 999 &

(1) A-III, B-II, C-1V, D-I

(2) A-1V, B-11, C-IIL, D-I

(3) A-1, B-II, C-III, D-IV

(4) A-1V, B-111, C-II, D-I

195 <™ <1 e fou g @

o arpeE®
A 9 THiean
vell 9 gigy

[SREIR

1 faseal & 921 SAX &1 999 &

foaaee & urae o & dafaa g [ g2 1 & arg

T 11
I duefr
. <<
FHETA
Fadilt
RIREI

II.

IV. &=Tge

o 1 : AR FooT I AHIGH o & STel qah]

gied T T BT ST Bidl & |

T 11 : ST ST HooT Ud 415w -] &
T wd uftuees & fog ged ararers yam

H B

IR U T4 oAt & webter ® e faemedt @ gaitus

&I 3TAX &1 TIT HU:

(1) %9917 & s wa 11 Gl 2

(2) T wuA I eix wu [ T B |

(3) = @ I 8T B 1 TTod & |

(4) B 19§ Ale Hu 1116 7 |
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196 Match List I with List IT :

197

198

199

200

o0 wp

List I List II

RNA polymerase 111 I.  snRNPs
Termination of

transcription II.  Promotor
Splicing of Exons III. Rho factor
TATA box IV. SnRNAs, tRNA

Choose the correct answer from the options given
below :

(1) A-IV, B-III, C-I, D-II

(2) A-IL B-1V, C-1, D-III

(3) A-II, B-II, C-1V, D-1

(4) A-IIL, B-1V, C-I, D-II

Choose the correct statement given below

regarding juxta medullary nephron.

(1) Juxta medullary nephrons outnumber the
cortical nephrons.

(2) Juxta medullary nephrons are located in the
columns of Bertini.

(3) Renal corpuscle of juxta medullary nephron

lies in the outer portion of the renal medulla.

(4) Loop of Henle of juxta medullary nephron

runs deep into medulla.

Given below are two statements :

Statement I : Mitochondria and chloroplasts are

both double membrane bound organelles.

Statement II : Inner membrane of mitochondria

is relatively less permeable, as compared to

chloroplast.

Inthe light ofthe above statements, choose the most

appropriate answer from the options given below :

(1) Statement I is incorrect but Statement II is
correct.

(2) Both StatementIand Statement Il are correct.

(3) Both Statement I and Statement II are
incorrect.

(4) Statement I is correct but Statement II is

incorrect.

Regarding catalytic cycle of an enzyme action,
select the correct sequential steps :
A. Substrate enzyme complex formation.

B. Free enzyme ready to bind with another
substrate.

C. Release of products.

D. Chemical bonds of the substrate broken.

E. Substrate binding to active site.

Choose the correct answer from the options given
below :

(1) E,D,C,B,A
3) AE,B,D,C
As per ABO blood §roupmg system, the blood

group of father is BT, mother is A" and child is
o, Thelr respectlve genotype can be

(2) E,A,D,C,B
(4) B,A,C.D,E

A. IBi/TAi/ii B. IBIB/IAIA /i
C. TAB/iIA/IBi D. TAi/IBi/ 1A
E. iB/ilA/TAIB

Choose the most appropriate answer from the
options given below :
(1) D &E only

(3) Bonly

(2) Aonly
(4) C&Bonly
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196

A
B.
C.
D

197

198

199

200

Tl 1 ot g 11 & a1 gafiad sa—
Tl

T 1l
FuT gremest [II 1. snRNPs
G Bl G . =&
eRih Bl THIEN . T &R®
. TATA ST IV. SnRNAs, tRNA
o Taseal & 981 AT &1 99 B

(1) A-IV, B-II, C-1, D-TI
(2) A-I, B-1V, C-1, D-IT
(3) A-IIL, B-II, C-1V, D-I
4) A-II, B-1V, C-1, D-II
qIi~Teg el gaRpIfal | Hetad e woAl ¥ w2l
%7 TIT B |
(1) g?%wqwmwa@aamém
|
) ﬁwu@xwaﬁ%wﬁﬁﬂaﬁ
B 1
(3) Hi=1ea HeAi JahTY] BT o [4STY] Tt HEATS
% Sredl fowy H B 2
(4) =Tea TeaAisT JahTT] Bl sl TS HEATN H Mo
EASIRIRS

T < woe fgg o R

F 1 : GBI 3T FARARE T Qre T et
ST it ¥ |

o 1L : GBI bl S Freet! T i gan &
YR BH UTCTR Bl 2|

IUT T3 1T HAT & gapreT ® T fasbedl @ 999 9E
I BN TIT B

(1) ¥ 17dd & AfeesT dee 1 Ear 7|

(2) @ Hu 1 8} w11 921 )

(3) @t ®u I 3R e 11 Ted ¥ |

(4) B 19§ Ale Hu 1116 7 |

TS USTEH foRanfatly o Sare! Ik & Tav & el ST
IO BT TIT B

A. Teraream demgw |img &1 fHE)

B. ¥ USTEH &l 31 fopame & §e9 & fag
RRIEEE I

C. TdEl & JEa-|

D. fomamemt & TraTatTe g4 72 91 ¥
RRATET &1 Afhg e IX S|

ﬁwﬁﬁlﬁ@mﬁwwwaﬂﬁ

(1) E,D,C,B,A (2) E,A,D,C,B
3) AE,B,D,C 4 B,A,C,D,E
ABO &R o1t yomelt % St frar st i ot BY,
AT BT AT 3T s &1 O % | 39 ShA9T: SIS &

Tohd &

A. IBi/TAi/ii B. IBIB/IAIA /i
C. TAIB/iIA/1Bj D. TAi/1Bi/ 1A
E. iB/ilA/IAB

= fadedl & 99 91 33X & 999 B
(1) ¥a@ DIRE (2) Had A

(3) waw B (4) ¥aw@ C 3l B
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fFefofae HEsT ear7 @ a2 -

Read carefully the following instructions :

6.

10.

11.

12.

13.
14.

15.

16.

17.

T TR 89X, gdeedt et/ sid Se ¥ gd ST
U (g ufaferty us shraies giatara ) shey FHideres
ohT TG WU S | Tdamedt 797 Trer wo giedeht oFf 5
e B

W Yfaeht o1 Hehd & S6 | I gffyea &l fan
T GahT ol Hohd, IAL TR oh Jo1 Afdfoiia ag a1
T Hehd | fherar €1 e Ig fust 2 ot wdameff gud
e giadet 3R SR U3 o1 & fag fdes i i
TS AW |

Tiremedf gifeea i foh 39 S 9= =01 Arer 7 S
IH W 377 T2 9 e | qleqeft s1aen STk
¥ gfkenl/Ia 99 § Fuifa Tum & sifafed s==
=1 ferd |

I 9 W frdft ghR & HeeE Y =R KES F
TART St AT T 2 |

IS 9 W Y glanefl, et =1 79 gae-ua
fe@md |

g arefteren a1 e w1 foR e1gafa & foa =8
Thefeft ST T A B |

HE@ e &1 e19A1 3w U feu faqr wa
Iufkerfd-—us/es 9 g saR (T % 91) feRg
fomr g adeneff gdan sfa &1 |t afe feer
gitgrrell § gET IR SufEeIfd-usah UX e TE@
ferT ot o AT ST foh Sae AU @ e g
SR TE o |rer Sht JIHET WET ST |
I eh / BXA=TeId Uiisheteh hl SUANT Afid B |
T{eT-ReT/ BT W A0 o fag udemedl, adem &
i wd faframi gro frafaa € sfea wem &
goft A =1 aen 59 Tdet o i wd fafazdi &
SR EN

feret TromTa & uder gfcent i SR U &t &g
W ST AR

et gRent / AU | fau T gden gRent Seohd &l
Tdaneff T aler ¥ sufeafa-uwe § foag |

A = 9 fire @t srafy &l alien % fag o g
Ut fFe @1 gfaqie @9 Yo fear s, 9
g eredt (S ferew & fou smdife &0 @ ergem
1), BhIES BT IUART HIAT & a1 Tel |

6.

~]

10.

11.

12.

13.
14.

15.

16.

17.

On completion of the test, the candidate must
hand over the Answer Sheet (ORIGINAL and
OFFICE Copy) to the Invigilator before leaving
the Room/Hall. The candidates are allowed to take
away this Test Booklet with them.

The CODE for this Booklet is S6. Make sure
that the CODE printed on the Original Copy
of the Answer Sheet is the same as that on
this Test Booklet. In case of discrepancy, the
candidate should immediately report the matter to
the Invigilator for replacement of both the Test
Booklet and the Answer Sheet.

The candidates should ensure that the Answer
Sheet is not folded. Do not make any stray marks
on the Answer Sheet. Do not write your Roll No.
anywhere else except in the specified space in the
Test Booklet/Answer Sheet.

Use of white fluid for correction is NOT permissible
on the Answer Sheet.

Each candidate must show on-demand his/her
Admit Card to the Invigilator.

No candidate, without special permission of the
centre Superintendent or Invigilator, would leave
his/her seat.

The candidates should not leave the Examination
Hall without handing over their Answer Sheet to
the Invigilator on duty and sign (with time) the
Attendance Sheet twice. Cases, where a
candidate has not signed the Attendance
Sheet second time, will be deemed not to
have handed over the Answer Sheet and
dealt with as an Unfair Means case.

Use of Electronic/Manual Calculator is prohibited.
The candidates are governed by all Rules and
Regulations of the examination with regard to their
conduct in the Examination Room/Hall. All cases
of unfair means will be dealt with as per the Rules
and Regulations of this examination.

No part of the Test Booklet and Answer
Sheet shall be detached under any
circumstances.

The candidates will write the Correct Test Booklet
Code as given in the Test Booklet/Answer Sheet
in the Attendance Sheet.

Compensatory time of one hour five minutes
will be provided for the examination of three
hours and 20 minutes duration, whether such
candidate (having a physical limitation to
write) uses the facility of Scribe or not.
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